

# RAILTEL CORPORATION OF INDIA LIMITED

No.275E, EVR Periyar Saalai, 4th Floor, Office of the Chief Administrative Officer, Southern Railway, Egmore, Chennai- 600008

# TENDER DOCUMENT

TENDER NO: RailTel/OT/SR/MAS/2016-17/SN 01-10 Dt: 05.04.2016

# Name of Work:

"Wi-Fi CONNECTIVITY AT CHENNAI AND KERALA TERRITORY AS PER SPECIFICATION & SCHEDULE OF SUPPLY ENCLOSED TO THIS TENDER DOCUMENT"

Tender Document Sold to: M/s.

Page 1 of 69

Dt: 05.04.2016



# **RailTel Corporation of India Limited**

# A Government of India (Ministry of Railways) Undertaking

No.275E, EVR Periyar Saalai, 4th Floor, Office of the Chief Administrative Officer, Southern Railway, Egmore, Chennai- 600008

visit www.railtelindia.com, Tel: 044-26481271 Fax: 044-26481272,

Corp.& Regd.Office: 10<sup>th</sup> Floor, Bank of Baroda Building, 16-Parliament Street, New Delhi–110001.

# NOTICE INVITING TENDER

Tender Notice No. RailTel/OT/SR/MAS/2016-17/SN 01-10

RailTel Corporation of India Ltd., Chennai invites sealed tenders from established contractors with proven experience for the work of "Wi-Fi connectivity at Chennai and Kerala territory As per specification & schedule of supply enclosed to this tender document":

1 Tender Notice No. RailTel//OT/SR/MAS/2016-17/SN 01 Dt: 05.04.2016					
Description of work		Estimated value (Rs)	EMD in Rs.		
Wi-Fi connectivity at Chennai Egmore As per specification & schedule of supply enclosed to this tender document		24,91,102	49,825		
2	2 Tender Notice No. RailTel/ OT/SR/MAS/2016-17/SN 02 Dt: 05.04.2016				
	Description of work	Estimated value (Rs)	EMD in Rs.		
Wi-Fi connectivity at Chennai Tambaram As per specification & schedule of supply enclosed to this tender document		21,92,400	43,850		
3	3 Tender Notice No. RailTel/ OT/SR/MAS/2016-17/SN 03 Dt: 05.04.2016				
Description of work		Estimated value (Rs)	EMD in Rs.		
Wi-Fi connectivity at Arakkonam As per specification & schedule of supply enclosed to this tender document		21,92,400	43,850		
4 Tender Notice No. RailTel/ OT/SR/MAS/2016-17/SN 04 Dt: 05.04.2016					
Description of work		Estimated value (Rs)	EMD in Rs.		
Wi-Fi connectivity at Coimabtore As per specification & schedule of supply enclosed to this tender document		18,93,646	37,875		
5	Tender Notice No. RailTel/ OT/SR/MAS/2016-17/SN	05 Dt: 05.04.2016			
Description of work		Estimated value (Rs)	EMD in Rs.		
Wi-Fi connectivity at Madurai As per specification & schedule of supply enclosed to this tender document		19,37,146	38,750		

Page 2 of 69 2

6	Tender Notice No. RailTel/ OT/SR/MAS/2016-17/SN 06 Dt: 05.04.2016				
	Description of work		Estimated value (Rs)	EMD in Rs.	
	onnectivity at Mangalore Central (Keration & schedule of supply enclo		12,67,289	25,345	
7	Tender Notice No. RailTel/OT/SR/MAS/2016-17/SN 07 Dt: 05.04.2016				
	Description of work		Estimated value (Rs)	EMD in Rs.	
specifica	Wi-Fi connectivity at Kozhikodu (Kerala Territory) As per specification & schedule of supply enclosed to this tender document		17,32,218	34,645	
8	Tender Notice No. RailTel/ OT/S	R/MAS/2016-17/SN (	08 Dt: 05.04.2016		
	<b>Description of work</b>		Estimated value (Rs)	EMD in Rs.	
	connectivity at Thrisur (Kerala ation & schedule of supply enclo nt		16,20,439	32,410	
9	Tender Notice No. RailTel/ OT/S	R/MAS/2016-17/SN	09 Dt: 05.04.2016		
Description of work		Estimated value (Rs)	EMD in Rs.		
Wi-Fi connectivity at Kollam (Kerala Territory) As per specification & schedule of supply enclosed to this tender document		20,43,396	40,870		
10	Tender Notice No. RailTel/ OT/	/SR/MAS/2016-17/SN	N 10 Dt: 05.04.2016		
	Description of work		<b>Estimated value (Rs)</b>	EMD in Rs.	
Wi-Fi connectivity at Thiruvanathapuram (Kerala Territory) As per specification & schedule of supply enclosed to this tender document 20,13,386 40,270					
a)	Sale of Tender Documents.	From: 21.04.2016.			
b)	Closing of sale of Tender Documents	24.05.2016 at 17.00 hrs (by hand)			
c)	Submission of tender documents.	25.05.2016 on or before 11.00 hrs.			
d)	Opening of tender documents.	25.05.2016 at 11.30 hrs.			
e)	Earnest Money (EMD) per section as specified above will be payable by Bank Draft / F.D.R in favour of <b>RailTel Corporation of India Limited.</b>				
f)	Cost of Tender Document for <b>each</b> is. <b>Rs. 5725/-</b> inclusive of VAT @14.5% ( <b>Rs.6300</b> /- if required by post incl. of VAT 14.5%) payable by Bank Draft in favour of <b>RailTel Corporation of India Limited. Secunderabad</b> from any scheduled bank (Non-Refundable)				

Page 3 of 69 3

# **Eligibility Criteria:**

Cost of Tender Document shall be paid in the form of Demand Draft drawn in favour of **RailTel Corporation of India Limited, Secunderabad** from any scheduled bank. Tender document can be purchased from the Office of Group General Manager, RailTel Corporation of India, Chennai on any working day or can be downloaded from the web site **www.railtelindia.com**. Documents down loaded from web site shall accompany the payment for the cost of the document in the form of D.D as mentioned at clause "f" above during the submission of Tender document. Documents received without the cost of tender will summarily be rejected **The tender document should be sealed in a cover duly superscripted tender No., and name of the work** and shall be dropped in the Box kept in the office of Group General Manager, RailTel Corporation of India Private Limited, No.275E, EVR Periyar Saalai, 4th Floor, Office of the Chief Administrative Officer, Southern Railway, Egmore, Chennai-600008, as mentioned at clause "c" above. RailTel is not responsible for delay or loss in transit. The tenderer may be present at the time of opening of tenders, if they desire. The tender offers are deemed to be valid for acceptance for a period of 120 days from the date of opening of the tender. Late/delayed/ incomplete tenders and tenders with insufficient EMD will be summarily rejected.

Tender Notice and Tender Document are also available at our website www.railtelindia.com



# 1.0 **INSTRUCTIONS TO TENDERERS**

# 1.1 **NAME OF THE WORK:**

"Wi-Fi connectivity at Chennai and Kerala territory as per specification & schedule of supply enclosed to this tender document

# 1.2 **TENDERING INSTRUCTIONS:**

1.2.1 The tender document in original along with the schedule filled in and **duly signed and stamped on each page**, complete in all respects shall be enclosed in an envelope. The Tenderer shall also enclose in his offer that they accept all the RailTel's terms and conditions and have not offered any counter clauses. This envelope shall then be sealed and following shall be superscripted on the envelope:-

"TENDER NOTICE No: RailTel/ OT/SR/MAS/2016-17/SN 01-10 Dt: 05.04.2016"

- 1.2.2 Tender cover should be addressed to The Group General Manager, RailTel Corporation of India Ltd, No.275E, EVR Periyar Saalai, 4th Floor, Office of the Chief Administrative Officer, Southern Railway, Egmore, Chennai- 600008. The Tender should be deposited in the Tender Box in the office of the Group General Manger, RailTel Corporation of India Ltd, Chennai before closing of the tender box at 11.00 hrs. on 25.05.2016.
- 1.2.3 Tender sealed and super scribed as mentioned above can also be sent by Registered Post with acknowledgement due, to the above mentioned Office. The Tenders which are received after the time and date specified above shall not be considered. For delays by Department of Posts/courier agency RailTel will not be responsible.
- 1.2.4 **Offer:** The tenderers are required to quote percentage **rate for** the Schedule both in figures and words as indicated in the schedule. If there is any discrepancy in the quoted rates both in figures and words, the rates quoted in words will be taken as final.

# 1.2.5 **EARNEST MONEY**

The tenderer shall deposit earnest money along with the tender in favour of "RailTel Corporation of India Limited" payable at Secunderabad in the form of Demand Draft/FDR of any Nationalized/Scheduled Bank. Bank Guarantee for earnest money is not accepted. Tenders without earnest money will be summarily rejected. The earnest money of successful tenderer will be retained as part of retention money for due and faithful fulfillment of a contract. The earnest money of the other tenderers shall be returned to them. No interest will be payable on the earnest money deposit.

- 1.2.6 Bidder may quote for multiple tender based on its capacity in one tender document but the cost of the tender document shall have to be submitted for each tender quoted by them accompanied with requisite Earnest Money deposit (EMD) as prescribed below for which he has participated. The tender document should be sealed in a cover duly superscripted
- 1.2.7 However, small scale Units registered with NSIC under single point registration scheme are exempted from cost of Tender Document and EMD. Valid documents i.e., registration of NSIC should be provided for this to get exemption from submission EMD.

The EMD details for each section are as follows:

1	RailTel/ OT/SR/MAS/2016-17/SN 01 Dt: 05.04.2016		
	Description of work	Estimated value (Rs)	EMD in Rs.
Wi-Fi connectivity at Chennai Egmore As per specification & schedule of supply enclosed to this tender document		24,91,102	49,825
2	RailTel /OT/SR/MAS/2016-17/SN 02 Dt: 05.04.2016	1	
	Description of work	Estimated value (Rs)	EMD in Rs.
	ectivity at Chennai Tambaram As per specification & lule of supply enclosed to this tender document	21,92,400	43,850
3	RailTel /OT/SR/MAS/2016-17/SN 03 Dt: 05.04.2016	\	
Description of work		Estimated value (Rs)	EMD in Rs.
Wi-Fi connectivity at Arakkonam As per specification & schedule of supply enclosed to this tender document		21,92,400	43,850
4	RailTel /OT/SR/MAS/2016-17/SN 04 Dt: 05.04.2016	\	
Description of work		Estimated value (Rs)	EMD in Rs.
Wi-Fi connectivity at Coimabtore As per specification & schedule of supply enclosed to this tender document		18,93,646	37,875
5	RailTel /OT/SR/MAS/2016-17/SN 05 Dt: 05.04.2016		
Description of work		Estimated value (Rs)	EMD in Rs.
Wi-Fi connectivity at Madurai As per specification & schedule of supply enclosed to this tender document		19,37,146	38,750

6 RailTel /OT/SR/MAS/2016-17/SN 06 Dt: 05.04.2016				
	Description of work	<b>Estimated value (Rs)</b>	EMD in Rs.	
Wi-Fi connectivity at Mangalore Central (Kerala Territory) As per specification & schedule of supply enclosed to this tender document		12,67,289	25,345	
7	RailTel /OT/SR/MAS/2016-17/SN 07 Dt: 05.04.2016			
	Description of work	Estimated value (Rs)	EMD in Rs.	
Wi-Fi connectivity at Kozhikodu (Kerala Territory) As per specification & schedule of supply enclosed to this tender document		17,32,218	34,645	
8	RailTel/OT/SR/MAS/2016-17/SN 08 Dt: 05.04.2016			
Description of work		Estimated value (Rs)	EMD in Rs.	
Wi-Fi connectivity at Thrisur (Kerala Territory) As per specification & schedule of supply enclosed to this tender document		16,20,439	32,410	
9	RailTel /OT/SR/MAS/2016-17/SN 09 Dt: 05.04.2016			
	Description of work	Estimated value (Rs)	EMD in Rs.	
Wi-Fi connectivity at Kollam (Kerala Territory) As per specification & schedule of supply enclosed to this tender document		20,43,396	40,870	
10	RailTel /OT/SR/MAS/2016-17/SN 10 Dt: 05.04.2016	2 / T		
Description of work		Estimated value (Rs)	EMD in Rs.	
Wi-Fi connectivity at Thiruvanathapuram (Kerala Territory) As per specification & schedule of supply enclosed to this tender document		20,13,386	40,270	

Page 7 of 69 7

# 1.3 **DOCUMENTS TO ACCOMPANY THE OFFER:**

The following documents as laid down hereunder are to be attached with their offer.

- 1.3.1 Tender document including schedule of work duly signed and stamped in each page.
- 1.3.2 Earnest Money Deposit (DD/FDR)
- 1.3.3 Work done/Experience certificate
- 1.3.4 Turn over certificate.

# 1.4 **GENERAL**

- 1.4.1 All corrections and over-writing must be attested.
- 1.4.2 The Tenderer should read the conditions carefully and also see the schedule of work/supply before submitting the offer.
- 1.4.3 No counter conditions for the clauses laid down will be permitted.
- 1.4.4 The Tenderer must confirm to the specifications/special conditions.
- 1.4.5 Tenderer while quoting, may specifically note the following:
  - a) The offer shall be inclusive of all taxes / duties as applicable at present.
  - b) Any statutory variation in taxes / duties, shall be to RailTel account and shall be admissible on production of valid documentary evidence. Tenderer must submit the taxes / duties structure considered by him while quoting the rates in a separate sheet including contractor percentage for each line item and it is mandatory.
  - c) Octroi duty / Municipal taxes, if any, shall be borne by the Contractor.
  - d) RailTel will deduct income tax at source as per rates in vogue.





Page 8 of 69



# GENERAL TERMS AND CONDITIONS OF CONTRACT



Page 9 of 69

# GENERAL TERMS AND CONDITIONS OF CONTRACT

#### 1. DEFINITION OF TERMS:

The words and terms specified in this section or pronouns in their stead, shall unless repugnant to the meaning or context thereof for the purpose of this contract and the specifications thereof, have the meanings as given below:

- 1.1 "RAILTEL" shall mean "RailTel Corporation of India Ltd, Chennai", issuing the tender and order and shall include its successors and assigns, as well as their authorized officers/representatives including consultants, if any, to the said "RAILTEL"
- 1.2 The "PROJECT" shall mean the entire work as described in the contract or LOA.
- 1.3 "CONTRACTOR" shall mean the successful BIDDER whose Bid has been accepted by RAILTEL and on whom the 'Contract' or 'Order' is placed by RAILTEL and in this contract it is the aforesaid contractor and shall, unless repugnant to the context, include their heirs, legal representatives, successors and permitted assigns
- 1.4 "SUB-CONTRACTOR" shall mean the person or firm named in the 'Contract' or 'LOA' to whom the work has been sublet by the CONTRACTOR with the prior consent in writing of RAILTEL and shall include their heirs, legal representatives and successors
- 1.5 "MANUFACTURER" refers to a person or firm who is the producer and supplier of material or designer and fabricator of equipment to be supplied to RAILTEL or the CONTRACTOR or both under the Contract or LOA.
- 1.6 "INSPECTOR" shall mean the authorized representative(s) appointed by or on behalf of RAILTEL for the purpose of inspection of materials / equipment / works
- 1.7 "SITE" shall mean the actual places in the proposed "Project' as detailed in the 'Specification' or other places where work has to be executed under the Contract
- 1.8 "MONTH" shall mean English calendar month
- "SPECIFICATIONS" shall mean all directions, various technical specifications, provisions and requirements attached to the contract, as originally agreed and as modified from time to time by RailTel subject to price adjustments mutatis mutandis which pertain to the method and manner of performing the work or works to the quantities and qualities of the work or works and the materials to be furnished under the contract for the work or works as may be amplified or modified by RailTel-In-Charge during the performance of the contract in order to provide for unforeseen conditions or in the best interest of the work or works. It shall also include the latest edition including all addenda / corrigenda of relevant Bureau of Indian standard specifications and other relevant codes governing a particular activity or facility. The term shall include the specifications specified in the contract in respect of each type of material/goods to be used in the execution of contract.
- 1.10 "BID" or "TENDER" shall mean the proposal/document that the BIDDER submits as his offer with price and conditions in the requested and specified format as detailed in 'Specifications' / 'Tender documents
- 1.11 'BILL OF QUANTITIES" means the priced and completed bill of quantities forming part of the bid / tender.
- 1.12 "PLANT" or "EQUIPMENT" and "WORK" or "WORKS" shall mean the goods to be supplied, work to be executed and services to be provided by the Contractor under the 'contract' or 'LOA'
- 1.13 "LETTER OF INTENT" or "LETTER OF ACCEPTANCE" means the formal, acceptance by RAILTEL of the bid / tender of the bidder
- 1.14 "CONTRACT' shall mean the agreement under these presents between RAILTEL and the Contractor for the execution of works, including all the schedules contained in the agreement and all the documents, such as Tender Documents. General Conditions of Contract, Job Specifications, the

- accepted Schedule of Rates, General Requirements, Time Schedule for completion of the job, Drawings, Letter of Intent, agreed variations, if any, etc.,
- 1.15 "CONTRACT PRICE" shall mean either the lumpsum price named in the Contract / LOA subject to the provision contained hereof or the total amount payable to the Contractor for the entire execution and full completion of the work as calculated from quoted unit rates and estimated or measured quantities for various items of work as set out in the Schedule of Quantities attached to the Contract / LOA
- 1.16 "DATE OF CONTRACT" shall mean the calendar date on which RAILTEL and Contractor have signed the 'Contract', "EFFECTIVE DATE OF CONTRACT" shall mean the calendar date on which RAILTEL shall have issued to the Contractor the 'Letter of Intent' or as otherwise mutually agreed to between RAILTEL and the Contractor
- 1.17 "CONTRACTUAL COMPLETION PERIOD" shall mean the time period agreed for completing the execution of and passing the tests on completion of the works or any section or part thereof as stated in the contract (or as extended subsequently) calculated from the commencement date. The 'Contract' shall be executed as agreed between the Contractor and RAILTEL in the Letter of Intent / Contract / LOA.
- 1.18 "TESTS ON COMPLETION" means the tests specified in the Contract or otherwise agreed by RAILTEL and the Contractor which are to be made by the Contractor, to the satisfaction of RAILTEL before the works or any section or part thereof are taken over by RAILTEL
- 1.19 "APPROVED" and "APPROVAL" where used in the specification / tender shall mean respectively approved by and approval by RAILTEL. When the words 'Approved', 'Approval', 'Subject to Approval', 'Satisfactory', 'Equal to', 'Proper'. 'Requested', 'As directed', 'Where directed', 'When directed', 'Determined by', 'Accepted', 'Permitted', or words and phrases of like import are used. the approval. judgment, direction, etc., is understood to be a function of RAILTEL or its designated representative qualified technically to the respective acts.
- 1.20 "CONTRACTOR'S WORKS" or "MANUFACTURER'S WORKS" shall mean and include land and other places which are used by the Contractor or his sub-Contractor for the manufacture of 'Equipment' or performing the 'Works'
- 1.21 "VIRTUAL COMPLETION" shall mean all work is completed as directed and the 'Site' is cleared to the satisfaction of RAILTEL; but prior to and conditional on / subject to the issuing of "Completion Certificate", or "Final Certificate"
- 1.22 WORDS importing persons shall include Firms, Companies, Corporations and other Bodies, whether incorporated or not
- 1.23 WORDS importing singular shall also include the plural and vice versa, where the context requires
- 1.24 "DRAWINGS" shall mean: All drawings new or revised furnished by RAILTEL forming part of tender as a basis for proposals and forming part of Contract / LOA and made part thereof
- 1.25 "ACT OF INSOLVENCY" shall mean any Act of Insolvency, as defined by the Presidency Towns Insolvency Act, or the Provincial Insolvency Act or any amending statute
- 1.26 Wherever FIGURES are given in the Contract under the word "ELEVATION" or any abbreviation of it, or where figures representing elevations are given, unless otherwise stated, shall mean the ELEVATION relative to the permanent Bench Mark fixed by RAILTEL for the particular work, located as shown on site plan or a datum level established by RAILTEL
- 1.27 'WRITING" shall include any manuscript, typewritten or printed statement issued under or over signature of RAILTEL and / or Contractor / vendor with seal
- 1.28 "RAILTEL-IN-CHARGE" shall mean the person nominated by "RAILTEL" from time to time and shall include those who are expressly authorized by RAILTEL to act for and on its behalf for all functions pertaining to operation of this contract / LOA.

- 1.29 "NOTICE IN WRITING" or "WRITTEN NOTICE" shall mean a notice in written, typed or printed characters sent (unless delivered personally or otherwise proved to have been received) by registered post to the last known private or business address or the address of the registered office and shall be deemed to have been received when in the ordinary course of post it would have been delivered.
- 1.30 "CONSTRUCTIONAL PLANT" shall mean all appliances or things of whatsoever nature required in or about the execution, completion or maintenance of the works or temporary works (as defined hereinafter) but does not include materials or other things intended to form or forming part of the permanent work
- 1.31 "TEMPORARY WORKS' shall mean all temporary works of every kind required in or about the execution, completion or maintenance of the works
- 1.32 "THE COMPLETION CERTIFICATE" shall mean the certificate to be issued by RAILTEL or RAILTEL-In-Charge when the works have been completed to their satisfaction and in accordance with the criteria stipulated in the Contract. This certificate shall only be tentative and subject to the final certificate as below
- 1.33 "THE FINAL CERTIFICATE" in relation to the work, shall mean the certificate regarding the satisfactory compliance or otherwise of the various provisions of the contract, which is issued by RAILTEL, after the period of liability is over
- 1.34 "THE PERIOD OF LIABILITY" in relation to a work shall mean the specified period from the date of issue of the completion certificate up to the date of issue of final certificate, during which time the Contractor stands responsible for rectifying all defects, at its own cost, rate and responsibility.
- 1.35 "HOLD BACK" shall mean the amount of money deducted from a Contractor's request for payment for works completed. It shall be retained by RAILTEL until such time as established in the contract: to guarantee full and satisfactory performance. No interest shall be paid to the Contractor on this money
- 1.36 "PRICE VARIATION CLAUSE" shall be that written formula, which sets out how a given price(s) in the tender and contract documents can be modified during the course of contract. It shall be mutually agreed to by all the parties at the outset of the project, and shall be so deemed
- NOTICES, 1.37 REFERENCES TO ANY MODIFICATIONS. CLARIFICATIONS. INSTRUCTIONS, APPROVALS, AGREED, MUTUALLY AGREED, ACCEPTANCES. DEMANDS, ASSURANCES, INTIMATIONS and the like and / or their alternative forms wherever appearing shall mean such acts IN WRITING signed by the authorized representative, unless otherwise specified
- 1.38 "GOODS" shall mean the materials to be supplied by the Contractor to be used in the execution of the contract or LOA and such goods or materials shall confirm to the specifications incorporated in the tender or bid
- 1.39 "FIRST QUALITY" shall mean the level of quality available as "the best in the market" at the material time, as the term in quotes is generally understood in respect of such brand / make / model etc., as the appropriate consultant may recommend / have recommended
- 1.40 "ACCEPTING OFFICER" is officer authorized by RAILTEL to accept the contract and modify/change/alter the terms thereof who shall be the final authority in respect of any disputes that may arise under this contract.
- 1.41 WORK: The works to be executed on the basis of the LOA issued by RAILTEL from time to time in accordance with the contract or part thereof as the case may be and shall include extra, additional, altered or substituted works as required for purpose of the contract.
- 1.42 CONSTRUCTION EQUIPMENT: All appliances and equipment of whatsoever nature for the use in as for the execution and completion of the works under the contract.
- 1.43 CONTRACT DOCUMENTS: Collectively the Agreement with all its schedules and annexures, if any, the tender document, Quotations designs, drawings, specifications, special and general conditions of

- contract, letter of acceptance, agreed variations if any and such other documents constituting the tender and acceptance thereof as specifically agreed and incorporated in the letter of acceptance.
- 1.44 ENGINEER-IN-CHARGE (EIC)/ RAILTEL-IN- CHARGE: The representative of RAILTEL at site acting under the orders of RAILTEL to supervise the work and in other matters
- 1.45 DEFECTS LIABILITY PERIOD: The period from the date of virtual completion up to the date of expiry of specified maintenance period during which the Contractor is responsible for rectifying defect, if any, that may appear in the works at free of cost. The liability period shall exists, RAILTEL issues a LOA file closing certificate
- 1.46 SECURITY DEPOSIT: The deposit held by RailTel as security for due fulfillment of the contract.
- 1.47 ACCEPTANCE and ACCEPTANCE DATE: shall mean the acceptance by RAILTEL in writing after following the procedure. Such acceptance certificate shall be given by RAILTEL only upon receiving invoice from the Contractor, which shall be treated as acceptance. Acceptance Date shall mean the date on which the Final bill amount paid to Contractor by RAILTEL.
- 1.48 READY FOR SERVICE: shall mean the delivery of the materials, the Installation, the corresponding interconnection, the successful completion of the Field Acceptance Tests.
- 1.49 DOCUMENTATION: shall mean the As-Constructed Plans, general instruction, drawings, diagrams and other written material as well as electronic material (such as in the form of CD-ROM or Floppy) that the Contractor is required to provide to RAILTEL under this Contract.
- 1.50 MATERIAL: shall mean all the Hardware that are included in the scope of Supply as detailed in a specific Order placed and confirmed hereunder and conforming to the respective Specifications.
- 1.51 SUPPLY PRICE: shall mean the aggregate price payable by RAILTEL to the Supplier for the material supplied and delivered at site. The pricing information must be detailed as specified in the contract.
- 1.52 FIELD ACCEPTANCE TESTING: shall be considered accomplished, after the Site Acceptance Tests are satisfactorily completed, if the system meets all the specifications detailed in the contract.
- 1.53 INFORMATION: shall mean technical, financial and commercial information and data relating to Party's respective businesses, finances, planning, facilities, products, techniques and processes and shall include, but is not limited to, discoveries, ideas, concepts, know-how, techniques, designs, specifications, drawings, blueprints, tracings, diagrams, models, samples, flow charts, data, computer programs, disks, diskettes, tapes, marketing plans, customer names and other technical, financial or commercial information and intellectual properties, whether in written, oral or other tangible or intangible forms.
- 1.54 INSTALLATION: shall mean the assembling of the materials, the loading, unloading, the testing and the successful operation of the system, in accordance with the defined technical characteristics and with the installation and security rules in effect under the laws of India and, as applicable, in the various states of India.
- 1.55 LOA shall mean the Initial Order and the subsequent orders issued by RAILTEL specifying the scope of the work to be done by the Contractor periodically.
- 1.56 PARTY OR PARTIES: shall mean RAILTEL or the Contractor(s).
- 1.57 PROPOSAL OR THE OFFER: shall mean the document prepared by the Contractor in response to the tender of RAILTEL, including any modifications, clarifications requested and accepted by RAILTEL.
- 1.58 PROJECT MANAGEMENT: means the Contractor(s) will use well established Project Management techniques to meet the scheduled dates and time frames, and fulfilling all obligations as specified in Division of Responsibilities.
- 1.59 SCOPE OF SUPPLY: shall mean the totality of the supplies that the Contractor(s) is obliged to provide to RAILTEL.

- 1.60 SERVICES: shall mean the system design & engineering (as applicable for access network), installation, supervision and training that the Contractor(s) is required to provide to RAILTEL under the Contract.
- 1.61 SERVICES CONTRACT PRICE: shall mean the aggregate price payable by RAILTEL to the Contractor for the Services provided hereunder.
- 1.62 SYSTEM: shall mean the Outside Plant cable network or a part thereof, as the case may be, to be implemented by the Contractor and operated by RAILTEL in the Territory.
- 1.63 TERRITORY: shall mean the geographical area specified in India by RAILTEL
- 1.64 TIME SCHEDULE: shall have the meaning set forth in the LOA in terms of this contract.

#### 2. SEVERABILITY:

If any provision of this document is invalid or unenforceable or prohibited by law, this document shall be considered divisible as to such provision and such provision shall be inoperative and shall not be part of the consideration moving from either party to the other and the remainder of this document shall be valid and binding and of like effect as though such provision was not included herein.

# 3. DENIAL OF PARTNERSHIP I JOINT VENTURE:

It is hereby expressly agreed and declared that:

- 3.1.1 These presents do not create any partnership or joint venture or associations of persons between the parties hereto.
- 3.1.2 Each of these parties hereto has undertaken obligations and has rights specified herein on their own account and is principal to principal and not on behalf of, or on account of or as agents of any of them or of anyone else

Nothing contained in this document shall be deemed to constitute a party as agent of the other party for any reason or purpose whatsoever.

# 4. SCOPE OF CONTRACT I LOA:

- 4.1 It is understood and agreed by the **Contractor** that the work described shall be complete in every detail, even though every item necessarily involved is not particularly mentioned. Each component of the works that is provided must meet all its intended functions over the expected or stated service life.
- 4.2 The **Contractor** shall carry out the work or complete the system in every respect, in accordance with the contract / LOA and accompanying drawings and in accordance with the directions and to the satisfaction of RailTel-In-Charge.

# 5. CONTRACTOR TO ACQUAINT HIMSELF AS TO THE CONDITIONS OF WORK *I* SUPPLY:

5.1 The **Contractor** shall make allowance for all contingencies in the contract price and shall not raise any claims or objections against **RAILTEL** in any matters which include but not limited to the nature of work, site conditions, right of way, surface and water conditions, local conditions and all other related issues.

- 5.2 The acceptance and execution of the contract shall be construed as evidence that such an examination was made and later claims for labour, equipment or materials required for difficulties encountered shall not be allowed.
- 5.3 The prices quoted by the **Contractor** are and shall be construed to be based on his own knowledge and judgment of the conditions and hazards involved.
- 5.4 The **Contractor** shall be deemed always to have satisfied himself as to the correctness and sufficiency of the Tender and of the Rates and Prices stated in the Schedule of Quantities all of which shall except in so far as it is otherwise provided in the Contract, cover all his obligations under the Contract.

#### 6. MATERIALS:

6.1 **RailTel** will not supply any material.

# **6.2.** Materials supplied / provided by the Contractor:

- 6.2.1 All materials supplied or used shall be as per RAILTEL's specifications and shall be new and of first quality approved by Bureau of Indian standards. RAILTEL shall the right to accept or reject the same. Where foreign or partly foreign equipment or materials are offered or intended to be used, the fact must be specifically stated and brought to the notice of **RAILTEL** for prior written approval.
- 6.2.2 Unauthorized substitution of materials delivered in error or to wrong description or quality, or supplied in excess of the quantity ordered, or rejected goods, shall be returnable only at the expense of the **Contractor**. The **Contractor** shall bear among other things relevant charges, handling, transportation and insurance expenses.
- 6.2.3 It shall be the **Contractor's** responsibility to safeguard all materials against theft, loss, damage or whatsoever.

#### 7. **DESPATCH**:

- 7.1 The goods, if any, to be supplied by the **Contractor** shall be dispatched and delivered well in time to suit the completion period specified in the contract, or as per completion schedule mutually agreed upon.
- 7.2 Failure to meet the stipulated completion periods for inadequate supply of goods, or for any other reasons, shall be subject to the provisions of "Liquidated Damages" under this agreement.

# 8. SUB-CONTRACTS:

8.1 The **Contractor** shall not sub-contract any part or the whole of the work, without the prior consent of RAILTEL. The **Contractor** may sub-contract parts of the contract, if necessary and in the interest of the project and only to sub- Contractors approved in advance in writing by RAILTEL. The **Contractor** shall be responsible for transmitting specifications and pertinent data to sub- Contractors and ensuring full compliance by them. In such cases even if written permission is given, it shall not relieve the **Contractor** from his obligations under the contract and he shall be fully responsible for all supplies / work done by his sub-Contractors. The **Contractor** shall also be exclusively responsible for the effective planning and co-ordination of the work from sub-Contractors. to ensure proper integration with all works.

- 8.2 It shall be as per the specifications of **RAILTEL** and **RAILTEL** shall have sole discretion to withdraw its consent and have the remaining part performed or executed by any other party of RAILTEL's choice.
- 8.3 Notwithstanding anything contained herein, RAILTEL shall have sole discretion to nominate subcontractors for specialized activities/works or even for part of specified works, before or during the course of Work, wherever required in the opinion of RAILTEL on account of slow progress, poor quality or Contractor's lack of sufficient mobilization.

#### 9. **REJECTION:**

- 9.1 The **Contractor** will notify **RAILTEL** well in advance when an item of work is taken up requiring its prior clearance, such as recording of levels, measurement or shuttering before pouring concrete, or when samples are required to be taken by it for testing during the progress of work. The **Contractor** will provide all assistance to **RAILTEL** in fulfillment of its duties. In the event that the goods or the works are defective or non-conforming to the specifications and standards, **RAILTEL** shall exercise its right of rejection or rectification of the defects / shortcomings and charge the **Contractor** for all expenses incurred thereby. All goods supplied or procured shall be factory tested and duly passed by RAILTEL.
- 9.2 Further, **RAILTEL** shall also be entitled to reject the goods and work executed by the **Contractor** which may not be conforming to specifications, within a reasonable time after installation or first use of the said goods and materials, if testing or inspections subsequently prove these to be non-conforming and charge the **Contractor** for all expenses, direct and consequential incurred thereby.

#### 10. SECRECY CLAUSE

- 10.1 The technical information, drawings, specifications and other related documents forming part of the tender or the contract are the property of **RAILTEL** and shall not be used for any other purpose, except for execution of the contract. All rights including rights based on prior user, copyrights and rights in the event of grant of a patent and registration of designs are reserved exclusively by RAILTEL.
- 10.2 In the event of any breach of this provision, the **Contractor** shall indemnify **RAILTEL** from any loss, cost or damage or any other claim whatsoever from RAILTEL's collaborators and / or any other parties claiming from or through them or from any other party in respect of such breach.

# 11. RAILTEL'S INSTRUCTIONS:

11.1 RAILTEL may, in its absolute discretion, from time to time, issue further drawings and / or instructions, details, directions, modifications, variations, specifications and explanations etc; which are collectively referred to as RAILTEL's INSTRUCTIONS

# 12 **CHANGES IN THE WORK:**

12.1 If it becomes necessary or desirable to modify the contract and the specifications and the drawings etc; which may result in quantity variation **beyond plus 100% or minus 25 %** of the original scope, **RAILTEL** may, without invalidating the contract, direct that changes shall be made accordingly and **no increase in Rates** shall be given.

- 12.2 The rates for quantity variations, substituted items and new items of work shall be based on the following in the order indicated:
  - i) If a rate exits in the contract for an item having the same or similar specifications as proposed in the revised specifications, the Contractor shall carry out the work at the same rates as already existing in the contract.
  - ii) If the rates cannot be determined as at (i) above, or do not exist, the rates shall be derived from the rates for a similar class of work in the contract.
  - iii) If the rates cannot be determined as at (i) and (ii) above, the **Contractor** shall be paid after negotiation based on market rate and contractors profit not more than 10%.
- 12.3 Except for minor modifications in the work, not involving extra cost and not inconsistent with the purposes of the work and except on an emergency endangering life or property, no extra work or change shall be made unless in pursuance of a written order from **RAILTEL** authorizing the extra work or change and no claim for any addition to the contract amount shall be valid unless so ordered.
- During course of execution of the main work, if any new works to be carried over in the same LOA, Contractor need to execute the same on issuing of LOA amendment or any deviation note or LOI for the same.

# 13 CONTRACTOR'S OBLIGATIONS

The **Contractor** shall proceed with execution of the contract in the best and most expeditious manner by engaging qualified careful and efficient workers and complete the work strictly in conformity with the plans, drawings schedules and RAILTEL instructions.

# 14 SUPPLY OF TOOLS, EQUIPMENT AND OTHER MATERIALS

- 14.1 For full completion of the work the **Contractor** shall, at his own expense, procure all necessary tools and equipment, depending on the type of work awarded for securing quality, safe conduct and rate of progress of work. The **Contractor** shall also provide all protective measures for safety and storage of equipment under such conditions.
- 14.2. The Contractor shall ensure that all the tools, equipment and other materials required for the work are mobilized and are available. RAILTEL shall have the right to mobilize any / all Equipment as may be required so as to make them available for the work. Expenses / Charges incurred by RAILTEL in respect here of shall be reimbursed by the Contractor or adjusted in the payments to be made to the contractor by RAILTEL
- 14.3 The **Contractor** shall not dispose of, transport or withdraw any tools, tackles, equipment and material provided by him for the contract without taking prior written approval from **RAILTEL**, who at all times shall have right to refuse such permission, if in **RAILTEL** opinion, the same will adversely affect the safe, efficient or expeditious completion of the project.

#### 15. PROGRAM AND CONSTRUCTION SCHEDULE

15.1 Upon award of contract and before commencement of the work, the **Contractor** shall prepare a detailed and comprehensive work completion schedule, for review and approval by RAILTEL. The **Contractor** shall also submit to RAILTEL, a CPM / Bar chart for the works at the works / project site within one (1) week from effective date of contract. These "approved" schedule and procedures shall

- form the basis of all the works to be performed by the Contractor and shall be adhered to by the Contractor subject to modification by RAILTEL
- The **Contractor** will inform and present in person to RAILTEL, the name, designated Project Manager along with his Organizational structure, site engineers / staff for assessment of their suitability & capability in handling the Works, awarded by RAILTEL. In case the designated representative of RAILTEL is not satisfied with suitability or capability of the Contractor's staff, the **Contractor** shall locate and present an alternative person for assessment of staff to RAILTEL. However the **Contractor** shall deploy only those particular staff, who have been assessed and approved by RAILTEL representative for handling the Works awarded by RAILTEL. Even during the course of the Work, if RAILTEL observes and passes instructions to the **Contractor** to replace a particular staff or employee / sub contractor, the **Contractor** shall abide by RAILTEL instructions in this matter at no extra cost to RAILTEL and take immediate steps to minimize the delay in execution of the Work.
- 15.3 Failure to respect the completion dates stipulated in the LOA or instruction shall entitle **RAILTEL** to the application of the "Liquidated Damages" under this Contract

# 16. **EXECUTION OF WORKS.**

- 16.1 All site works are to be protected with diversion signs, barricades, danger signs, warning tapes etc.
- Prior to excavation, the existing cable / pipe etc., belonging to other utilities must be located so as to avoid damage to these utilities by taking trial pits at appropriate distances. Any damage to other utility shall be informed to **RAILTEL** and shall be made good by the Contractor to the entire satisfaction of the affected utility or as per existing law at his own cost.
- 16.3 While trenching Contractor shall do shoring wherever required.
- Any damage to checkered tiles / granites / structures belonging to shops or other establishments shall be informed to **RAILTEL** and shall be made good by Contractor to the entire satisfaction of the affected utility or as per existing law at his own cost.
- 16.5 The **Contractor** at all times shall work in co-ordination with RAILTEL's representative / supervisory staff and offer them all reasonable facilities to become familiar with the erection, operation and maintenance of the equipment.
- In respect of observations of local rules and regulations, administrative orders, working hours and the like the **Contractor** and his personnel shall fully cooperate with **RAILTEL** and follow **RAILTEL** instructions. The **Contractor** shall be responsible for compliance with all statutory requirements including personnel related matters.
- In the event of the **Contractor** being prevented by causes not attributable to him from proceeding with the work, before he temporarily withdraws from the site he will obtain permission of **RAILTEL**, and shall hand over to **RAILTEL** for safe keeping during his absence such contract material that he is unable to use / erect and **RAILTEL** will furnish a receipt for material so handed over. However, such storage of material by **RAILTEL** shall be at the risk of the **Contractor**.
- 16.8 The **Contractor** shall not sell, assign, mortgage, hypothecate or remove equipment or materials which have been installed or which may be necessary for the completion of the contract, without the prior written consent of RAILTEL

The **Contractor** shall, throughout the execution and completion of the works and the remedying of any defects therein, take all reasonable steps to protect the environment on and off the site and to avoid damage or nuisance to persons or to property of the public or others resulting from pollution, noise or other causes arising as a consequence of his methods of operation and shall be exclusively liable and responsible for the same

#### 17. TEST & INSPECTION:

- 17.1 The **Contractor** shall provide for the purpose of inspection, ladders, lighting and equipment for testing, necessary instruments etc., at his own cost. He shall make these available to RAILTEL, if requested, at no cost.
- 17.2 Any work not conforming to the drawings, specifications, or codes for execution shall be rejected forthwith and the **Contractor** shall carry out the rectification at his own cost and within the time specified for the completion of that type of work
- 17.3 All results of inspection and test will be recorded in the inspection reports. Performa of which shall be approved by RAILTEL. These reports shall form part of the completion documents.

# 18. EXAMINATION OF WORK BEFORE COVERING UP:

18.1. The **Contractor** shall give advance notice to **RAILTEL** or its representative whenever any work or materials are intended to be covered up in the earth, in bodies or walls or otherwise to be placed beyond the reach of measurement, in order that the work may be inspected or that correct dimension may be taken before being so covered, placed beyond reach of measurement. In default of such notice, the same shall, at the option of **RAILTEL** or its representative. be uncovered and measured at the **Contractor's** expenses. The work shall again be covered up at the **Contractor's** expense.

# 19. EXAMINATION OF FINISHED WORK:

When finished work is taken down for the purpose of inspection the Contractor shall bear all the expenses incidental thereto in the event that the said work is found to be defective. **RAILTEL** shall pay the cost incidental thereto in the event there is no default of notice and if it is also in accordance with the specifications

# 20. PROTECTION TO EXISTING PLANT AND EQUIPMENT

- 20.1. During construction of the project, any existing plant and equipment may be operated in and around the vicinity of the project site. In such cases, the **Contractor** shall protect all existing plant, structures, piping, conduits, equipment and facilities against damage during his construction operations
- 20.2. **RAILTEL** shall not be responsible or held liable for any damage to person or property consequently upon the use, misuse of failure of any construction tools and equipment of **RAILTEL** used by the **Contractor** or any of his sub-Contractors, even though such construction tools and equipment may be furnished, rented or loaned to the **Contractor** or any of his sub-Contractors. The **Contractor** accepts all responsibility in this connection and agrees to indemnify and save harmless **RAILTEL** from any and all claims for said damages arising out of or resulting from said use, misuse or failure of such construction tools and equipment
- 20.3. Adequate lighting at and near all the storage, handling, fabrication, pre- assembly and erection sites for properly carrying out the work and for safety and security shall be provided and maintained by the **Contractor.** If the **Contractor** fails to provide all the above listed facilities, **RAILTEL** may provide

such facilities as it may deem necessary and charge the cost thereof to the **Contractor**. In any case, the **Contractor** shall be liable for all damages and consequences arising out his neglect in this regard.

# 21. STORING CONTRACTOR'S MATERIALS & CLEAN UP OF WORK SITE

- All soil, filth or other matter taken out of any trench, sewer, drain, cesspool or other place shall not be deposited on the surface, but shall at once be carted away by the Contractor from the site of work, for suitable and proper disposal as directed by RAILTEL.
- During erection, the **Contractor** shall, without any additional payment. at all times keep the working and storage areas used by him free from accumulation of loose or combustible material, waste materials, or rubbish. If the **Contractor** fails to comply with these requirements, **RAILTEL** will proceed to clear those areas and the expenses incurred by **RAILTEL** in this regard shall be payable by the **Contractor**.
- 21.3 The **Contractor** shall be responsible for the safe and secure storage of any material or equipment.

# 23. OFFICES, TOOL ROOM, STORES, WAREHOUSE ETC.,

The **Contractor** shall be fully responsible for storage of all materials covered in his scope and also of those issued by **RAILTEL** and shall acquire necessary site storage space as may be required at his own cost. Similarly it is the responsibility of the **Contractor** to establish his own site office / tool room. No space for storage, office or for any other purpose would be provided by **RAILTEL**. The Contractor has to establish Warehouse and Security at appropriate site in order to store materials issued by RAILTEL. Security of all materials 24 hours a day is the sole responsibility of the Contractor and the Contractor has to engage a Professional and registered Security Agency for the same.

#### 24 STATUTORY APPROVALS:

- 24.1 It shall be the **Contractor's** responsibility to furnish all particulars and furnish necessary application forms to the concerned authorities on behalf of **RAILTEL**, if so required, and satisfy all requirements and obtain approval.
- 24.2 The **RAILTEL** shall provide any assistance possible and shall arrange for payments to be made to various Agencies upon submission of the required estimates.

#### 25. DAY/NIGHT WORK:

- 25.1 The CONTRACTOR is normally expected to work during night time only and is required to complete the work in all respects as stipulated elsewhere. However, day work may be stipulated by the RailTel or permitted in exigencies, with prior approval of the RailTel.
- 25.2 Sufficient lights must be provided by the contractor to safeguard the workmen and the public and to afford adequate facilities for properly placing and inspecting the materials and work when the night work is in progress.
- 25.3 Where night work is in progress, all excavated areas shall be barricaded and shall be provided with red lights at the cost of Contractor and all other work areas shall be well illuminated to prevent accidental falls etc.

#### **26.** WORK IN MONSOON AND DEWATERING:

- 26.1. The construction and erection work entails working in monsoon conditions, which will affect productivity and require additional effort to protect the works. The **Contractor** must maintain an adequate labour force and appropriate equipment, as may be required for the project and plan and execute the work according to the prescribed schedule. No extra rate will be considered for such work in monsoon.
- 26.2. During monsoon and at all times during construction, it shall be the responsibility of the **Contractor** to keep the construction site free from accumulation of water at his own cost. Prior to any concreting, the prepared excavations must be totally free of water and the **Contractor** must have on hand the necessary pumping equipment to maintain the works dry. Standby equipment shall also be on site prior to start of concreting.

# 27. CONTRACT PRICE

- 27.1 Contract price shall include all traveling expenses to and from the site, allowances, living expenses, wages, salaries, overtime, benefits and all compensations to be paid for the Contractor's skilled and unskilled workmen, supervisors, clerical staff, watch and ward staff, store-keepers etc. It shall also include insurance carried by the Contractor for his workers, workmen's compensation, tools and tackles, plants and aids, third party liability and any other insurance as called for in General & Special Conditions of this contract. As well, the price includes cost of all licenses and permits, cost of procurement, loading, transport and unloading of all his material, tools and tackles, instruments and construction aids to and from the site, cost of providing office, tool room, quarters, canteen workshops and all facilities at site as may be required, cost of supply of all material required under the Contract, applicable taxes (ST, WCT etc.) and duties, performance of all services as required under the Contract and satisfactorily executing the complete work under the Contract. If any fees are to be paid to the statutory authorities for testing, inspection or calibration, these shall be considered by the Contractor and included in his pricing and if not so done, the same shall be the Contractor's responsibility.
- 27.2 Income Taxes on Contractor's / Sub-Contractor's Staff / Employees: The Contractor's staff, personnel and labour will be liable to pay personal income taxes in respect of such of their salaries, wages and allowances, as may be applicable. The **Contractor** shall ensure that all such taxes are duly paid on time by its personnel and indemnify RAILTEL in this connection.

# 28. BREAKDOWN OF UNIT PRICES:

The **Contractor** may be required to furnish an item wise breakdown of Materials, manpower, consumables, overhead etc. showing quantities and proportional contract prices of the physical units included in the Contract, if so requested by **RAILTEL** for their accounts. In addition **RAILTEL** may request unit prices for works not fully defined in the Contract; but which might be necessary during the execution of the project.

# 29. GUARANTEE PERIOD & OBLIGATIONS DURING THAT PERIOD:

A minimum of twelve (12) calendar months from the date of completion of clearing all deficiencies, unless otherwise agreed in writing by **RAILTEL**, shall be deemed to be the Guarantee Period. The Project Technical Specifications may impose more stringent warranty periods, for specific elements of the project. In such case the latter shall govern. The contract shall not be considered as completed until **RAILTEL** has certified in writing that works have been completed and the Guarantee Period shall commence from the date of such certificate. In case any defects in the system/work due to bad materials, and/or bad workmanship develop before the expiry of the above period, the **Contractor**, on

notification by **RAILTEL**, shall rectify or remedy the defects at his own cost, by making his own arrangements to provide materials, labour, equipment and any other appliances required in this regard. Should the **Contractor** propose any substitutions to rectify the problem that deviate from what was initially installed; prior approval from the **RAILTEL** shall be required in writing.

- 29.2 The retention amount will be returned to the Contractor only after the expiry of this Guarantee period or on provision of Bank Guarantee. In case even on due notification by RAILTEL, the Contractor fails to rectify or remedy the defects, **RAILTEL** shall have the right to get this done by the other agents and recover the cost incurred by deductions from the Security Deposit amount due to the Contractor, incase this cost is within the value of the security amount, and if not, the Contractor shall be liable to pay to **RAILTEL** the balance amount with all attendant costs including interest as may be worked out by RAILTEL.
- 29.3 The guarantee period shall be extended by the length of time required to make any adjustments, changes or repairs necessary to fulfill the guarantee.
- 29.4 The **CONTRACTOR** shall obtain similar guarantees from each of his SUB- CONTRACTORS. However, the overall responsibility shall lie with the **Contractor** to provide these to the **RAILTEL** along with full contract documentation during closing out of each site.

#### 30. RELEVANCE OF WORK SCHEDULES

The Work Schedules are intended to direct the progress of work and have no bearing on the payments to be made to the **CONTRACTOR by RAILTEL**, which shall be consistent with the agreed Payment Schedule notwithstanding anything set out elsewhere. The release of funds shall be as in the following clauses.

# 31. TIME AND ORDER OF COMPLETION AND LIQUIDATED DAMAGES:

- 31.1 If the Contractor has not started the work within 7 days from the date of issue of LOA date / LOI date / RAILTEL Schedule / ROW permissions'/ issue of Materials whichever is later, RAILTEL shall be entitled to cancel the LOA / Contract.
- Both the parties agree that in respect of obligations undertaken by each of them under this Agreement, **time is the essence**.
- Completion time / period indicated in the LOA / Contract shall be deemed to be of the essence of the Contract. No necessity for an extension of time is anticipated, but if untoward or extraordinary circumstances should arise beyond the control of the Contractor, which, in the opinion of RAILTEL, should entitle the Contractor to a reasonable extension of time, such extension may be refused or granted, but shall not operate to relieve the Contractor of any of his obligations, under the contract.
- 31.4 If this Contract is delayed at any time in the commencement, or during the progress of the work by any act, delay or neglect of **RAILTEL** or their employees, or by any other **Contractor** engaged by **RAILTEL**, or by changes ordered in the work by **RAILTEL**, or by Force Majeure, the time of completion shall be extended by a reasonable period as may be mutually agreed upon application from the **Contractor** at the time of such special circumstances occurring and not later than 7 days of occurring.

In the event that provision of Service is delayed beyond the dates specified in the LOA or agreed timelines duly signed by Contractor in kick off meeting, for any reasons attributable to the **Contractor**, then the **Contractor** shall pay to **RAILTEL** liquidated damages for such delay, calculated on the basis of the total price of the LOA value at the rate of **0.5%** per week of delay in completion of Project subjected to a maximum of 10%.

#### 31.6 **PENALTIES**:

- i. Poor Response: If the Contractor fails to respond within 24 hrs from the receipt of communication from the Site Engineer, RAILTEL would initiate necessary action and impose penalty up to an amount of Rs.10,000/= (Rs. Ten thousand only) for each case.
- ii. Non-standard of working practice: As per Government conditions the Contractor is supposed to use caution boards, DG sets, barricading stands, stone dust etc. If the Contractor is failed to mobilize the above equipment/materials in time, RAILTEL will not allow the Contractor to execute the job further. Any penalties levied by the local/Statutory Authorities on RAILTEL shall be borne by the Contractor, an additional amount of Rs.10,000/= (Rs. Ten thousand only) per day will be charged as penalty for non-mobilizing basic requirements and towards the delay in completion of the job.
- **iii. Public Sensitivity Issues:** If the contractor fails to respond within 12 Hrs for any public sensitivity issue. RAILTEL will take necessary action for rectifying/attending to the grievance of general public, whatever the cost incurred for rectification by RAILTEL, will be deducted from the Contractor. In addition to this an equal amount will be deducted as RAILTEL service charges and or up to a value of Rs.5 Lakh whichever is lower.
- **iv. Poor Performance:** If the Contractor fails to deliver/ fail to follow the schedule of work or time lines as agreed by both the parties. In such cases RAILTEL will terminate the work / contract to that extent, a communication shall be sent to Contractor stating the failures. The balance work shall be allotted to other Contractor and completes the Project. In case of termination the following payment procedure shall be adopted:

While settling the bill, RAILTEL will impose penalty up to 10% of the value of the contract. Further, an amount of 15% of bill value will be retained for one year towards defects liability period. All these charges shall be deducted from pending payments / any and all BG'S / Securities.

- v. Poor Supervision: If the Contractor fails to arrange adequate supervisors at Site, RAILTEL will do the supervision and deduct Rs.1, 000/= (Rupees One thousand only) per person per shift as supervision charges.
- 31.7 RAILTEL shall have absolute right at its sole discretion to encash any / all Bank Guarantee(s) provided by the Contractor, under this or any other Contract(s) with RAILTEL or forfeit Security Deposit in the event of:
  - i. The LOA issued by **RAILTEL** is not executed by the Contractor to the satisfaction of **RAILTEL** within the time specified by **RAILTEL** and or
  - ii. The Contractor fails to rectify any / all damages during the course of work even after directions from **RAILTEL** to do so and or

- iii. The Contractor fails to perform his obligations under this Contract and or
- iv. **RAILTEL** is put to loss, damage, what so ever in view of RAILTEL.

and **RAILTEL** shall have right to Cancel the LOA or the Contract besides encashing the BG / s or Earnest Money Deposits whichever is available with **RAILTEL** or may proceed against the **Contractor** for recovery of the said penalty.

#### 32. Deleted

#### 33. DELAY AND EXTENSION OF TIME:

- 33.1 If in the opinion of RAILTEL, the work is delayed for justifiable reasons, **RAILTEL** shall make a fair and reasonable extension of time for completion of the Contract Works. Such justifiable reasons shall include:
  - i. force majeure, or
  - ii. by reason of proceedings taken or threatened by or disputes with adjoining or neighboring RAILTEL's or public authorities, or
  - iii. by the works or delays of other Contractors or Tradesman engaged by RAILTEL, or
  - iv. by reason of "RAILTEL's instructions", as per relevant clause indicated elsewhere in this agreement, or
  - v. for delays in RAILTEL supply of basic materials.
- In all cases, the Contractor shall prove how such factors affected the works and to what extent.
- In case of strike or lockout, the **Contractor** shall, as soon as possible, give written notice thereof to RAILTEL, but the **Contractor** shall nevertheless constantly use his endeavors to prevent delay and shall do all that may reasonably be required to the satisfaction of **RAILTEL** to proceed with the work. However, extension of the time shall be without prejudice to **RAILTEL** invoking any of the other conditions/stipulations in these General Conditions of the Contract. No extension of time shall be granted for monsoon conditions.

#### 34. **SUSPENSION:**

- 34.1 The **Contractor** shall, on the order of RAILTEL, suspend the progress of the works or any part thereof, for such time or times and in such manner as **RAILTEL** may consider necessary and shall during such suspension, properly protect and secure the works so far as necessary in the opinion of the RAILTEL. Such suspension is warranted when:
  - i. Provided for in the contract; or
  - ii. Necessary for the proper execution of the works, or by reason of weather conditions; or
  - iii. Necessary for the safety of the works or any part thereof; or
  - iv. Necessary by some default on the part of the Contractor.
- 34.2 The **Contractor** shall not be entitled to extra costs (if any) incurred by him during the period of suspension of the works; but in the event of any suspension ordered by **RAILTEL** for reasons other than aforementioned then **RAILTEL** shall have the right to grant such extension of time of completion of the works as **RAILTEL** may consider proper.
- 34.3 If the progress of works or any part thereof is suspended on the order of the **RAILTEL** for more than three months at a time, the **Contractor** may serve a written notice on **RAILTEL** requiring a permission within fifteen (15) calendar days from receipt thereof, to proceed with the works or that part in regard to which progress is suspended. If such permission is not granted within that time, the **Contractor** may, but is not bound to, treat the suspension where it affects part only of the works, as a

deletion of such part, or where it affects the whole of the works, as an annulment of the Contract by RAILTEL.

No Idling charges will be paid to the Contractor in case of suspension of work due to local problems/delays, supply of material, issue of drawings etc. from RAILTEL

#### 35. TERMINATION OF CONTRACT BY RAILTEL:

35.1 RAILTEL shall be entitled to interrupt and terminate the contract at any time should, in RAILTEL's opinion, the cessation of work become necessary, owing to paucity of funds of the Contractor, the Contractor's apparent inability to perform, or from any other cause whatsoever. In such case, the value of approved materials utilized at site and of certified and accepted work done to date by the Contractor shall be paid for in full at the rates specified in the Contract subject to the clause of Liquidated damages contemplated herein. All such materials become the property of the RAILTEL.

The amounts held in the "hold back" account shall likewise be released, within a reasonable time after making the adjustments if any, payable by the Contractor. Notice in writing from the **RAILTEL** of such termination and the reason thereof shall be conclusive evidence of taking over of works from the Contractor.

- 35.2 The **Contractor** shall have no claim for any payment or compensation or otherwise howsoever on account of any anticipated profits or advantages which he did not derive from the execution of the work in full.
- 35.3 **RAILTEL** shall also be entitled to terminate the contract at any time, if in the opinion of **RAILTEL**, the **Contractor** or any person acting through / under him attempts to or does any or all of the following acts.
  - a) has obtained the contract by paying or agreeing to pay a consideration/commission
  - b) has obtained the contract as a result of ring tendering.
  - c) Offer or give any person in **RAILTEL** any gift or consideration.
- 35.4 **RAILTEL** may, in its opinion if so warranted, choose to rescind the Contract,

#### If the Contractor -

- a) Becomes bankrupt or insolvent; or is proceeded against for winding up, insolvency or bankruptcy; or for any offences involving moral turpitude, or its accounts are frozen by any statutory body or court order;
- b) Makes an arrangement with or assignment in favour of his creditors, or agrees to carry out the contract under a Committee of inspection of his creditors; or
- c) Being a Company or Corporation, goes into liquidation (other than a voluntary liquidation consented by **RAILTEL** for the purpose of amalgamation or reconstruction); or
- d) Assigns the contract or any part thereof otherwise than as provided in clause "SUB-CONTRACTS" of these conditions; or
- e) Makes substitutions to materials, to designs, or to sequencing of works, without the prior approval of RAILTEL; or
- f) Abandons the contract as previously defined; or
- g) Disregards the written instructions of the RAILTEL, or contravenes any provision of the contract; or
- h) fails to adhere to the agreed program of work; or

- i) fails to remove materials from the site or to pull down and replace work, after receiving from RAILTEL, notice to the effect that the said materials or works have been condemned or rejected, as mentioned elsewhere in these conditions; or
- j) fails to take steps to employ competent or additional staff and labour, as required elsewhere in these conditions; or
- k) fails to afford **RAILTEL** or **RAILTEL**'s Representatives proper facilities for inspecting the works or any part thereof, as required elsewhere in these conditions; or
- 1) promises, accepts, offers or gives either himself or through his partners, agents or servants, any bribe, commission, gift or advantage to any officer or employee of **RAILTEL**, or to any person on its or on their behalf, in relation to the execution of this Contract; or
- m) is deemed to have done or omitted to do one or more of the above.
- n) fails to adhere to the agreed quality and specifications.
- o) fails to fulfill any condition under this contract
- p) and for any other reasons at the sole discretion of RAILTEL.
- Providing that reason has been established for rescinding, then and in any of the aforementioned cases, **RAILTEL** may serve the **Contractor** with a notice in writing to that effect. If the **Contractor** does not respond within seven (7) calendar days after the delivery to him of such notice, proceed to make good the default, in so far as the same is capable of being made good and carry on the work or comply with such directions as aforesaid, to the entire satisfaction of **RAILTEL**, then **RAILTEL** shall be entitled, after giving forty eight (48) hours notice in writing, under the hand of the **RAILTEL**, to rescind the contract in whole or in part or parts (as may be specified in such notice) and adopt either or both in the following courses:
  - a) Carry out the whole or part of the work from which the **Contractor** has been removed, by the employment of the required labour, equipment and materials. The cost of such works shall include but not be limited to: handling and lifting at site, freight, transport and execution insurance, supervision and all incidental charges.
  - b) Measure up the whole or part of the work from which the **Contractor** has been removed and get it completed by another **Contractor**. The manner and method in which such work is completed shall be to the entire discretion of **RAILTEL**, whose decision shall be final.
- In both cases (a) and (b) mentioned above, the **RAILTEL** shall be entitled (1) to appropriate the whole or such portion of the Bank Guarantee's as it may consider fit, and (2) to recover from the Contractor the cost of carrying out the work in excess of the sum which would have been payable according to the certificate of the **RAILTEL** to the Contractor, had the works been carried out by the Contractor under the terms of the contract, such certificate being final and binding upon the Contractor. However, such recovery shall be made only when the cost incurred by **RAILTEL** is in excess of the Bank Guarantee's forfeited from the Contractor and shall be limited to the amount by which the cost incurred exceeds the Bank Guarantee's thus forfeited.
- 35.7 The amounts thus to be forfeited or recovered may be deducted from any moneys then due or which at any time thereafter may become due to the **Contractor** by the **RailTel** under this or any other contract or otherwise.
- 35.8 In such an event as contemplated herein above:
  - a) The **Contractor** shall have no claim for compensation for any loss sustained by him by reason of his having purchased or procured any materials, or entered into any commitments, or made any advances on account of or with a view to the execution of the works or the performance of the

contract. The **Contractor** shall not be entitled to be paid any sum for any work thereto actually performed under the contract, unless and until **RAILTEL** shall have certified the performance of such work and the value payable in respect thereof and the **Contractor** shall only be entitled to be paid the value so certified.

- b) **RAILTEL** or the **RAILTEL**'s representatives shall be entitled to take possession of any materials, tools, implements, machinery and buildings on the works or on the property on which these are being or ought to have been executed and to retain and employ the same in the further execution of works or any part thereof until the completion of the works without the **Contractor** being entitled to any compensation for the use and employment thereof or for wear and tear or for destruction thereof.
- c) RAILTEL shall not be liable to pay the Contractor any moneys on account of the contract until the expiry of the period of warranty and thereafter until the final costs of completion, maintenance damages for delay in completion (if any) and all other expenses incurred by RAILTEL have been ascertained and the amount thereof certified by RAILTEL. The Contractor shall then be entitled to receive only such sum or sums (if any) as RAILTEL may certify would have been due to him upon due completion by him, after deducting the said amount. If such amount shall exceed the sum which would have been payable to the Contractor, then the Contractor shall upon demand, pay to RAILTEL the amount of such excess and it shall be deemed a debt due by the Contractor to the RAILTEL and shall be recoverable accordingly.

# 36 **ASSIGNMENT**:

The agreement shall be binding on and ensure for the benefit of **RAILTEL** and the **Contractor**. The **Contractor** shall not assign or transfer any rights, duties, obligations or benefits conferred under this agreement, to any person without prior consent in writing from **RAILTEL**. Any such assignment, if permitted, shall not relieve the **Contractor** of any of its obligations or liabilities under the Agreement, and if so required by **RAILTEL**, the **Contractor** shall procure that any such assignee shall enter into a deed of warranty in favour of **RAILTEL** in terms, which are satisfactory to **RAILTEL**. However, **RAILTEL** shall without the prior permission of **Contractor**, assign or transfer the benefits or liabilities of the whole or any part of the Agreement.

#### 37 Deleted

# 38 **COMMUNICATIONS TO BE IN WRITING:**

All notices, communications, references and complaints made by the **RAILTEL** or his representative or the **Contractor** inter se concerning the works shall be in writing. Notices, communications, references or complaints not in writing shall not be recognized.

# 39 COMPLIANCE WITH STATUTORY LAWS/REGULATIONS:

- 39.1 The **Contractor** warrants that all goods/systems supplied and work done under the contract shall conform to all applicable City, State and Central laws, ordinances and all relevant statutory regulations. Further, the **Contractor** shall indemnify, keep indemnified and defend and save **RAILTEL** harmless for loss, cost or damage by reason of any actual or alleged violation thereof.
- 39.2 The **Contractor** shall ensure compliance with all relevant statutes, laws, rules and regulations of the Central or State Government or any other authority such as the Workmen's Compensation Act, Payment of Wages Act, Minimum Wages Act, Employees State Insurance Act, Employees Provident Fund Act, Apprentices Act, Contract Labour Regulation and Abolition Act, Child Labour (Prohibition and Regulation) Act, etc., and any / all other applicable statutes and all modifications thereof, in

- connection with labour/employees engaged by him or his sub-**Contractor**s in the work. The **Contractor** shall furnish to **RAILTEL** all necessary documents, challans etc., in respect of payments towards Provident Fund/ Employees State Insurance and under other statutes on periodical basis as required by **RAILTEL**.
- 39.3 **Contractor** must follow all norms and set procedures of Indian Labour Laws and regulations in the execution of the Works. The **Contractor** shall not engage minors/children under minimum age as specified in the applicable Indian Labour Laws.
- 39.4 The **Contractor** shall conform to the provisions of Indian Boiler Regulation, Indian Factory Rules, Indian Electricity Act and any other acts of legislature relating to the work and to the regulations and bylaws of any authority and of any water, lighting and other companies and/or Authorities with whose systems the Project is proposed to be connected and shall, before making any variations from the Drawings or specifications that may be necessitated, give to **RAILTEL** written notice, specifying the variations proposed to be made and the reason for making it apply for instructions thereon.
- 39.5 The **Contractor** shall indemnify **RAILTEL** in respect of all actions, suits, claims and demands brought or made against **RAILTEL** by the workmen of the **Contractor**, or any other person or persons whomsoever, in connection with the works, or in respect of any matter or thing done or omitted to be done by the **Contractor** in the execution of or in connection with the works, notwithstanding that all reasonable and proper precautions may have been taken by Contractor. He shall also indemnify against any loss or damage to **RAILTEL** in consequence of any action or suit or proceedings (civil and/or criminal) being brought against **RAILTEL** for anything done or omitted to be done in connection with the execution of the work. The indemnity given by the **Contractor** as aforesaid shall extend to making good all claims and demands proceedings (civil and /or criminal) arising out of losses/damages to property of every description and kind, the infringement of any legal right, as well as injury or accident to any person resulting in death or otherwise.
- 39.6 The **Contractor** agrees to and does hereby accept full and exclusive liability for compliance with all obligations imposed by the Employees State Insurance Act 1948 and the **Contractor** further agrees to defend, indemnify and hold **RAILTEL** harmless from any liability or penalty which may be imposed by the Central, State or Local Authority by reason of any asserted violation by the **Contractor** or sub-**Contractor** of the Employee's State Insurance Act 1948, and also from all claims, suits or proceeding that my be brought against **RAILTEL** arising under, this Contract, whether brought by Central or State Government authority or any political sub-division thereof.
- 39.7 The **Contractor** agrees to file with the Employee's State Insurance Authorities, the declaration form and all forms which may be required in respect of **Contractor**'s or sub-**Contractor**'s employees, and who are employed in Work provided for under this Contract as required under the said Act. The **Contractor** shall deduct and secure the agreement of the sub-Contractors to deduct the employees contribution as per the first schedule of the Employees State Insurance Act from wages and affix Employee's contribution cards at wages payment intervals. The **Contractor** shall remit and secure the agreement of sub-Contractor to remit to the concerned Bank, Employee's State Insurance Corporation Account, the employees contribution's required by the said Act.
- 39.8 The **Contractor** agrees to maintain all cards and records as required under the Act in respect of employees and payments and the **Contractor** shall secure the agreement of the sub-Contractor to maintain such records. Any expenses incurred for the contribution, making contributions or maintaining records shall be to **Contractor**s or sub-**Contractor**s account. **RAILTEL** shall have all the right to retain such sum as may be deemed fit and necessary from the Contract Price, until the **Contractor** shall have submitted documentary proof relating to payment of all its contributions under Employees State Insurance Act, Provident Fund Act, etc.

- 39.9 The **Contractor** shall maintain and ensure that all their personnel and its sub-Contractor's personnel involved in the Project, where necessary identity cards and shall also maintain/ cost to be maintained by its sub-Contractors all necessary records in respect of its personnel and its sub-Contractor's personnel as required in Law. The **Contractor** shall be responsible for all expenses that may be incurred in this connection.
- 39.10 Neither the **Contractor** nor the **Contractor**'s permitted **sub-Contractor**s nor the employees of any of them shall be deemed for any purpose to be employees of **RAILTEL**. Accordingly, neither the **Contractor** nor the **Contractor**'s **Sub-Contractor** nor their employees shall be entitled to any of the benefits under any employee benefit plan **RAILTEL** presently has in effect or may hereafter put into effect.
- 39.11 The **Contractor** shall ensure that no employee of the **Contractor** or of any **Sub-Contractor** or Subsupplier engaged by the **Contractor** is treated in law as an employee of **RAILTEL** and the **Contractor** shall fully indemnify **RAILTEL** in this regard.

#### 40 STATUTES, REGULATIONS AND JURISDICTION:

All matters relating to the Validity, meaning and performance of the contract shall be decided in accordance with the laws and statutes of Republic of India and shall be subject to and be referred to the Courts of Law situated in Hyderabad.

#### 41 CONTRACTOR TO INDEMNIFY RAILTEL

- 41.1 The **Contractor** shall indemnify **RAILTEL** and every member, officer and employee of **RAILTEL**, as also the **RAILTEL**'s site **RAILTEL**-in-Charge against all actions, proceedings, claims, demands, costs and expenses whatsoever arising out of or in connection with Damage to Property and all actions, proceedings, claims, demands, costs and expenses which may be made against **RAILTEL** for or in respect of or arising out of any failure by the **Contractor** in the performance of his obligations under the Contract.
- 41.2 **RAILTEL** shall not be liable and cannot be held liable for or in respect of any demand or compensation payable by law in respect of or in consequence of any accident or injury to any workmen or other person in the employment of the **Contractor** or his sub-**Contractor** and the **Contractor** shall indemnify and keep indemnified **RAILTEL** against all such damages and compensations and against all claims, damages, proceedings, costs, charges and expenses whatsoever in respect thereof or in relation thereto.

#### 42 PATENT INDEMNIFICATION

- 42.1 In the event any designs, drawings, plans or diagrams or any of the construction methods or processes furnished/followed by the **Contractor** for the construction of the portion of project or for the operation of the project, constitute infringement of patent or any of the protected rights and use thereof restrained. The **Contractor** shall procure for **RAILTEL** at no cost to the latter, the right to constitute using the same or to the extent it is possible, replace the same with non infringing work approved by **RAILTEL**, or modify them so that they become non-infringing, but such modifications shall otherwise be to the entire satisfaction of **RAILTEL**.
- 42.2 The provisions of this paragraph shall survive the completion, expiration or termination of the Contract.

#### 43 PAYMENT OF CLAIMS AND DAMAGES:

- 43.1 Should **RAILTEL** have to pay any money in respect of any claims or demands whatsoever, as aforesaid, as described herein inclusive of the amount so paid and the costs incurred by **RAILTEL** in respect of any damage or loss to any property belonging to third party or to any public utility service, shall be charged to and paid by the **Contractor** and he shall not be at liberty to dispute or question the right of **RAILTEL** to make such payments on any ground whatsoever, notwithstanding the same may have been made without his consent or authority, or in law or otherwise to the contrary.
- In every case in which by virtue of the provisions of Section 12, sub-section (I) of Workmen's Compensations Act, 1923 or other applicable provision of Workmen's Compensations Act or any other Act, **RAILTEL** is obliged to pay compensation to workmen employed by the **Contractor** and/or his sub **Contractor**'s in execution of Work, **RAILTEL** shall be entitled to recover from the **Contractor** the amount of compensation so paid, and without prejudice to the rights of **RAILTEL** under Section 12, sub-section (2) of the said Act.
- 43.3 **RAILTEL** shall be at liberty to recover such amount, or any part thereof, by deducting it from the Security Deposit or from any sum due to the **Contractor** whether under this Contract or otherwise. **RAILTEL** shall not be bound to contest any claim made under Section 12, sub-section (1) of the said Act except on written request of the **Contractor** and upon his giving to **RAILTEL** full security for all costs for which **RAILTEL** might become liable in consequence of contesting such claim. **RAILTEL** shall have lien on the amount due to the **Contractor** in respect of any amount that may be claimed by **RAILTEL** and/or payable by the **Contractor** under any of the provisions of the Contract.

# 44 INSURANCE & RISK

44.1 Third Party Liability Insurance Policy:

The **Contractor** shall take Insurance Policy to cover third party liability (claims arising out of injury and / or property damage) for LOA, value (per event / aggregate limit i.e. 1:1) including cross liability. The validity of this insurance shall be till the completion of Maintenance Period.

#### 44.2 Workmen's Compensation Policy:

The **Contractor** shall maintain/cause to be maintained a Workmen's Compensation Insurance Policy in accordance with Workmen's Compensation Act, 1923 or any other applicable statutory requirements from time to time covering all the employees engaged by the **Contractor** (including sub-**Contractor**'s employees) in the performance of the contract. The policy availed by the **Contractor** shall incorporate the following endorsement: "the principal's interest protected".

#### 44.3 Additional Clauses

The policy shall contain a suitable clause whereby **RAILTEL** shall be named as 'co-insured' under the policy. The policy shall contain a suitable clause whereby **RAILTEL** shall be named as the 'loss-payee' under the policy.

- 44.4 The insurance policies will be effective during the entire duration of the contract. The **Contractor** shall ensure the satisfactory payment of premia and other charges payable under the above policies and shall be responsible for satisfactory and expeditious compliance of all procedures, formalities and other terms and conditions relating to the initiation and maintenance of the policy including any claim there under.
- 44.5 All costs on account of insurance liabilities covered under contract will be on **Contractor's** account and will be included in contract price.

- 44.6 The **Contractor** shall not cancel or terminate or curtail the insurance policies in any manner without the prior express approval of **RAILTEL**.
- 44.7 **Contractor** has to submit Labour License copy issued by the Labour Commissioner-Central, before starting the work.

NOTWITHSTANDING ANYTHING TO THE CONTRARY CONTAINED ABOVE, the following terms are agreed to in addition to those that are set out above.

#### 45 **INDEMNIFICATION**:

- 45.1 The **Contractor** hereby releases and shall indemnify, defend and hold harmless the **RAILTEL** and its subsidiaries and affiliates and their officers, agents, employees, successors and assignees and authorized representatives against any and all suits, actions, legal or administrative proceedings, claims, demand, damages, liabilities, interest, attorney's fees, costs and expenses of whatsoever kind or nature, including those arising out of damage to property and injury to or death of persons, whether arising during or after completion of the work hereunder and in any manner directly or indirectly caused, occasioned, or contributed to in whole or in part, or claim to be caused, occasioned, or contributed to in whole or in part, omission, fault or negligence whether active or passive of the **Contractor**, **sub-Contractor**s or of anyone acting under its direction or control on its behalf in connection with or incidental to the performance of this contract.
- The Contractor shall pay and meet all expenses including legal costs incurred by RAILTEL in responding to and defending all such claims and the Contractor shall meet and pay all damages awarded against RAILTEL and keep RAILTEL harmless and indemnified to the fullest extent.
- 45.3 There will not be any claim against **RAILTEL** for any claim not recovered and/or short recovered from the insurance company such amount shall be borne by the **Contractor** himself.
- In the event **RAILTEL** is required to pay any royalty, penalty or other sum by whatever name known, to any of its contracting partners or agencies, either on account of time runs or the project not being made operational in full by the **Contractor**, or suffering any other disability, loss, damage or other inconvenience, on account of any delays or lapses in executing the project and rendering it fully operational, for any reasons not attributable directly to **RAILTEL**, the **Contractor** agrees and under takes to indemnify, keep indemnified and save harmless **RAILTEL** from all such costs, damages, expenses, disability, in such manner that at the first instance itself.

#### 45.5 **Risk Purchase**:

45.5.1 In the event the Contractor fails to executive the Work as per agreed productivity / Quality Norms of works issues related to Public sensitivity / safety does not perform as per specification / fails to fulfill his obligations as mentioned elsewhere in this Contract and time lines, RAILTEL after giving 7 days notice to the Contractor shall have the right to get the balance / defective Work executed / re-executed through any other Contractor / sub Contractor / agency as RAILTEL deems fit and proper at the costs and expenses of the Contractor, provided however that if the estimated cost for execution of such work as certified by RAILTEL's representative shall be less than the proportionate Contract Price, the benefit there from shall be to RAILTEL's account. And if the same shall be estimated more than the proportionate Contract price, the excess amount incurred by RAILTEL in this connection shall be reimbursed by the Contractor which may be adjusted by RAILTEL against any outstanding dues payable to the Contractor under this contract or shall entitled to recover from the Contractor. In such an event, RAILTEL shall have the right to retain and hold in its custody and possession of all requisite equipment, materials, tackles, machinery etc., belonging to the Contractor in connection with the Work, as it deems necessary so as to put them in use. RAILTEL shall be at liberty to sell the materials belonging to the Contractor if in the opinion of RAILTEL, it is necessary to avoid any loss

/hardship/ damages that may be incurred by **RAILTEL** on account of the **Contractor**'s failure to execute the Work to the satisfaction of **RAILTEL**. However, the Risk Purchase Clause shall be applied if the **Contractor** is behind schedule for more than 40% of the Value of the Work that has been awarded and if the delay is more than 20% in time Parameters.

#### **46** TIME SCHEDULE:

46.1 Time is the essence of the contract.

Time is the essence of the contract. Following Milestones are suggested for completion of the work in the specified completion period. This may be adhered to:

- D = Day of issue of LOA.
- D + 15 = Supply of items.
- D + 30 = Execution and completion of all works as per Schedule.
- D + 45 = Completion Provisional Acceptance testing, if any.

The **Contractor** shall provide a detail Time Schedule including the key activities related to the implementation of the network described in this Contract. Each site or group of sites should have its own schedule, which is a part of the overall implementation schedule.

- 46.2 The Time Schedule should include as a minimum information, the following activities:
  - a) Issue of LOA
  - b) Project kick-off meeting
  - c) Detail engineering
  - d) Receiving ROW permissions
  - e) Mobilization
  - f) Civil Work
  - g) Cable Works
  - h) OSP inspection
  - i) Testing and DEL delivery schedule
  - j) RAILTEL Inspection
  - k) Certificate of Acceptance
- 46.3 In addition, the **Contractor** shall identify the project team structure with job responsibilities and description including the quantity of employees in each field of expertise and the quantity of installation teams, he plans to use for this project.
- The **Contractor** has to discuss and sign off in detail the Time schedule & other resource deployment plan with **RAILTEL** and get the **RAILTEL**-in-charge approval before proceeding with the work.
- For each job description, the **Contractor** shall provide the average quantity of years of experience that the individuals have in this particular field of work.

# 47 INSPECTION, TESTING AND ACCEPTANCE:

- 47.1 After completion of installation at each route, the OSP system thereof shall be tested by the Contractor. The Contractor shall notify RAILTEL in writing prior to the commencement of such tests. RAILTEL may, at its discretion, be present and witness such tests or waive in writing the performance of these tests in which case such systems shall become accepted, upon putting into Commercial service or, in the absence of written notice of rejection given to the Contractor after completion of installation whichever occurs first.
- 47.2 **RAILTEL** will provide the **Contractor** with an inspection and acceptance test schedule for the Operation system, which shall be carried out by the **Contractor**. Upon achieving satisfactory results of

- such tests, **RAILTEL** shall issue a Final Acceptance Test Certificate on the completion of the test in respect of the route concerned.
- 47.3 **MANDRILL**: until the specified mandrill is passed and certified by Engineer in Charge and in case if there is any problem in passing specified mandrill no payment shall be paid to the Contractor for that stretch. Further, after rectification of the duct the Contractor has to pass the mandrill again in all the ducts. The cost of ROW charges/ penalties if any raising out of this will be debited from the Contractor's bill as mentioned in Article 6 of Schedule B.
- 47.4 In the event that the OSP system at the Site concerned does not satisfactorily pass the tests, the **Contractor** shall rectify the defects and the procedure referred to above in this Article shall be repeated as many times as is necessary, in order for testing and Acceptance to be satisfactorily completed.

# 48 WARRANTIES AND REPLACEMENT OF MATERIALS

- 48.1 The **Contractor** assures and guarantees that the cables or all other related materials installed in the project which fall under Contractor scope in terms of the contract will be new, unused when installed and will be free from defects in materials and workmanship and will function substantially in accordance with the applicable technical specification during the warranty period of twelve (12) months from Virtual Completion Date/ Final Acceptance Date.
- 48.2 The **Contractor** undertakes to promptly remedy all defects discovered in the system for the scope of work covered by him within the warranty period and notified to the **Contractor** by either repairing or replacing, at its option, the defective product or its defective part or subassembly or unit at his own cost and expense. Repaired or replaced units and subassemblies shall have a new warranty period of twelve (12) months from date of rectification.

#### 49 STORAGE AT SITE:

- 49.1 The **Contractor** shall be fully responsible for storage of all materials covered in his scope and shall acquire necessary site storage space as may be required, for timely completion of the project. **RAILTEL** will deliver the materials covered in its scope to the **Contractor** at **RAILTEL**'s warehouse point and it will be sole responsibility of the **Contractor** to transport such materials to his designated storage places or sites and safeguard the same against theft, loss or damage whatsoever. No additional cost shall be payable on this account.
- 49.2 Any tax implications including Octroi etc., during the transport within the territory shall be the responsibility of the **Contractor**. During the currency of the contract the **Contractor** shall be responsible for the safe custody of such materials delivered by **RAILTEL** till the final installation and will make good any shortages/damages, which occur during transportation to the site/storage at its cost. The **Contractor** shall also furnish a weekly report of consumption of **RAILTEL** supplied materials to enable **RAILTEL** Logistics to monitor the progress and arrange to supply additional quantity of such materials covered in the scope of **RAILTEL** as and when required.

# 50 MATERIAL RECONCILIATION:

- 50.1 It shall be the effort of the **Contractor**s to reduce wastage at every level.
- At the end of the specified work as per LOA, **RAILTEL** would under take a joint reconciliation of all materials issued. The maximum allowable wastage for the various items is indicated below.
  - a) PVC Conduits wastage not greater than 1%.
  - b) Cables wastage not greater than 0.5%
  - c) Accessories wastage not greater than 1%

- d) HDPE ducts wastage not greater than 1%. Less than 50 Mts. HDPE ducts lengths will be treated as wastage.
- Any shortfall would be to the **Contractor**s account calculated on the basis of the cost incurred by **RAILTEL** for procuring these items and would be deducted from the final bill.

# 51. MISCELLANEOUS:

No party shall publish any press release or otherwise publicly disclose the existence of this Contract or any of its Terms and Conditions, without the express prior written consent of the other Party, following advance review by consenting Party of the text of the press release or other public disclosure.

In the event of any changes, amendments, modifications in the provision and other terms and conditions of the **Contractor**, the same shall be executed and implemented by a way of Supplementary document duly signed by both the parties.

\*\*\*\*





35

Page 35 of 69

# **SPECIAL CONDITIONS OF CONTRACT**

#### 1.0 **SCOPE OF WORK**

"Wi-Fi connectivity at Chennai and Kerala territory as per specification & schedule of supply enclosed to this tender document"

#### 2.0 SPECIFICATION OF WORK

2.1 The RailTel reserves the right to reject or alter any part of the work executed by the contractor which in the judgment of RailTel does not comply with the requirements of these specifications. The decision of the RailTel shall be final and conclusive for all purpose.

#### 3.0 RATES

The tenderer are required to quote item wise rate for the Schedule both in figures and words. If there is any discrepancy in the quoted rates both in figures and words, the rates quoted in words will be taken as final.

- 3.1 The offer shall **be inclusive of all taxes / duties** as applicable at present. Proof of payment or declaration that all duties and taxes have been paid for the material being supplied to RailTel to be enclosed.
- 3.2 Any statuary variation in taxes / duties shall be to RailTel account and shall be admissible on production of valid documentary evidence.

#### 4.0 **SECURITY DEPOSIT:**

- 4.1 On Receipt of the Letter of Acceptance of Tender from the RailTel, the successful Tenderer shall within a period of 15 days deposit an amount equal to 5% of contract as Security deposit for due fulfillment of the contract.
- 4.2 The Earnest Money already paid by the successful Tenderer may at the discretion of the successful Tenderer be adjusted towards payment of this Security deposit and the additional amount shall be paid in any one of the following forms:
  - (a) Bank draft
  - (b) Irrevocable Bank Guarantee issued by any scheduled bank acceptable to purchaser.
  - (c) FDR
- 4.3 The Security Deposit will bear no interest.
- 4.4 The Instruments for security deposit should be valid for three months beyond the defects liability period (Warranty / Maintenance period). On successful completion of defect liability period and on certification of concerned RailTel engineer, the security deposit will be refunded or Bank guarantee released to the contractor after adjustment of any dues payable by the contractor.

# 5.0 **CONTRACT PERFORMANCE GUARANTEE (PBG)**

5.1 On receipt of the Letter of Acceptance of Tender from the RailTel, the successful Tenderer should give a Performance Guarantee in the form of irrevocable bank guarantee from any Nationalized Bank or Scheduled Bank in the Form given in Tender document amounting to 5% of the contract value.

- The Performance Guarantee should be furnished by the successful contractor after letter of acceptance has been issued, but before signing of the agreement. The agreement should normally be signed within 15 (fifteen) days after issue of LOA and Performance Guarantee should also be submitted within this time limit. The Instruments for Performance Guarantee should be valid for two months beyond the completion period.
- 5.3 Performance Guarantee shall be released after satisfactory completion of the work.
- Wherever the contracts are rescinded, the security deposit shall be forfeited and the Performance Guarantee shall be en-cashed.
- 5.5 The balance work shall be got done independently without risk and cost of the original contractor.
- The original contractor shall be debarred from participating in the tender for executing the balance work. If the failed contractor is a Joint Venture (JV) or a partnership firm, then every member/partner of such a firm would be debarred from participating in the tender for the balance work either in his/her individual capacity or as a partner of any other JV/partnership firm.

#### 6.0 **Deduction of Income Tax at source:**

Income Tax and any other tax such as work contract tax etc, at the prevailing rates during the period of contract shall be deducted at source on all the payments. The contractor should quote the PAN, Sales & Service Tax Registered number should be mentioned on the bill for arranging payment.

## 7.0 **Contractor's Engineer:**

The Contractor shall constantly keep one competent Engineer who will be responsible for carrying out the works during its progress.

## 8.0 Workmen, Tools, Plant & Machinery

The contractor shall make his own arrangements for all plant, machinery, equipment and Tools including spare parts, fuel and consumable stores all labour required during execution of work.

#### 9.0 **Maintenance Period**:

Maintenance period is **one year** from the date of completion of the work certified by the concerned RailTel Engineer and issue of Provisional Acceptance Certificate. During this period, the contractor has to be make good of any deficiencies arising from defective workmanship/material at free of cost.

## 10.0 Warranty/Guarantee:

Besides other warranty/guarantees required the Contractor shall warranty/guarantee the work in general for one year. All required guarantees shall be submitted to the RailTel's Engineer by the Contractor. For all brought out items supplied by the contractor, organized warranty/guarantee certificates from the manufacturer shall be in the name of the employer and handed over to the employer after completion of the works.

## 11.0 RailTel's Engineer Instructions:

Contractor shall forthwith comply with and duly execute the work true to the instructions issued to him by the RailTel's Engineer or his authorized representative.

## 12.0 **Schedule of Work/Supply**

The Schedule of Work/Supply given in the Schedule is provisional and is meant to indicate the intent of the work and to provide a uniform basis for tendering. The Employer reserves the right to increase or decrease any of the quantities or to totally omit any item of work and the Contractor shall not claim any extras or damages on these grounds. Hence the Contractor is expected to quote his rates keeping this in mind, as no claims of any sort for variations in quantities or deletion of items will be entertained under any circumstances.

Any error in description or in quantity or omission of items from the contract document shall not vitiate this Contract but shall be treated as a variation.

#### 13.0 **Visit:**

Before tendering, the Contractor shall visit and examine the site and satisfy himself as to the correct dimensions of the work and the facilities for obtaining any special articles and shall obtain generally his own information on all matters affecting the continuation and progress of the works. Further, the Contractor shall be deemed to have examined the existing site details before tendering.

#### 14.0 **AGREEMENT**

The successful Tenderer shall after having been called upon by notice to do so, be bound to execute an agreement based on accepted rates and conditions, in such form as the RailTel may prescribe, and lodge the same with the RailTel together with the conditions of contract, specifications and Schedule of prices referred to therein duly completed.

#### 15.0 TERMS OF PAYMENT

- Payment for the supply of Cable will be made to the contractor on submission of bill accompanied by the prescribed documents mentioned in the contract.
  - a) On Account Bill: Part payment will be made on the basis of completion of Links/Section which can put to be used for services. Part payment can be claimed thru' on account bills duly enclosing required documents/drawings.
  - b) 90 % payment will be made on supply and installation of material and acceptance by the section in charge.
  - c) 90 % of the value of the order shall be paid with the following documents.
    - Invoice
    - Consignee receipt
    - Warranty certificate
- **Balance 5%** of contract shall be paid after completion, on the certification of consultant and RailTel engineer-in-charge and issue of PAC.

**15.3**. Remaining 5% shall be paid after successful completion of warranty period and on certification of concerned RailTel Engineer-In-Charge

### 15.4 Documents to be submitted along with bills:

- a) Delivery challan for supply items.
- b) Warranty certificate for the supplied items as per clause 10 of SCC.

#### 15.5 FINAL SETTLEMENT

On expiry of the maintenance/warranty period, the SD will be released to the contractor after adjustment of any dues payable by the contractor.

#### 15.6 DEDUCTION FROM BILLS

All costs, damages or expenses, which RailTel may have paid or incurred, which under the provisions of contract are Contractor's obligations will be deducted by RailTel from Bills/Invoice of Contractor, as and when it is understood that such an expenses has been incurred or paid for. All such claims of RailTel shall, however, be duly supported by appropriate and certified vouchers, receipts or explanations as are available to enable the Contractor to identify such claims.

## **16.0 TAXES**

Deduction of Income Tax at source as per provisions of Finance Act and Income Tax in force shall be made from the Contractor/Sub-Contractor and the amount so deducted will be credited to the Central Government. Settlement of Income Tax should be made with Income Tax authorities.

Wherever the law makes it statutory for the Purchaser to deduct any amount towards Sales Tax on Works Contract, the same will be deducted and remitted to the concerned authority. The Contractor and all personnel employed by him shall pay such taxes like Income Tax as are payable under statutory laws of India and the Purchaser will not accept any liability for the same.

## 17.0 **Provisional Acceptance Certificate:**

After completion of provisional acceptance tests and if no problems are noticed during observation period of 15 days, Purchaser's Engineer shall issue a Provisional Acceptance Certificate for successful completion of work and connectivity of whole system covering all materials and services included in the Schedule of Works, after the acceptance test as per the approved test procedure have been completed and the performance has been found to meet the specifications. RailTel's decision in this respect shall be final.

### 18.0 Final Acceptance Certificate:

FAC shall be issued after successful completion of maintenance period/guarantee period of one year from the date of issue of PAC.

- 19.0 Bill passing officer is Addl.GM/MAS and Bill paying officer is GM/Finance.
- 20.0 PAN / Sales & Service Tax Regd.No./ VAT TIN No. should be mentioned on the bill for arranging payment.

#### 21.0 TIME OF COMPLETION:

Time is the essence of the contract. Total period of completion is **45 days** from the date of issue of acceptance letter.

#### 22.0 SETTLEMENT OF DISPUTE AND ARBITRATION

- 22.1 Any dispute or difference whatsoever arising between the parties out of or relating to the construction, meaning, scope, operation or effect of this contract or the validity or the breach thereof shall be settled by arbitration in accordance with the Arbitration and Conciliation Act, 1996 as amended and the award made in pursuance thereof shall be binding on the parties. The venue of such arbitration or proceedings thereof shall be Secunderabad
- 22.2 All arbitration proceedings shall be conducted in English. Recourse against any Arbitral award so rendered may be entered into court having jurisdiction or application may be made to such court for the order of enforcement as the case may be.
- 22.3 The Arbitral Tribunal shall consist of the sole Arbitrator appointed by mutual agreement of the parties.
- 22.4 Each of the parties agree that notwithstanding that the matter may be referred to Arbitrator as provided herein, the parties shall nevertheless pending the resolution of the controversy or disagreement continue to fulfill their obligation under this Agreement so far as they are reasonably able to do so.

## 23.0 QUANTUM OF WORK AND VARIATION IN QUANTITIES

- Quantities indicated in Schedule of Requirements are approximate and purport to convey the tenderer an idea of the magnitude of the work. The Contract value may vary within + / -25% of grand total of schedule of requirements as included in the Letter of Acceptance to tender as per site requirement, in case of variation in quantities the contractor shall be bound to carry out the work at the rates agreed in the schedule up to the limit of +/-25% variation in the value of contract and shall not be entitled to any claim or any compensation whatsoever.
- 23.2 The quantities quoted in the Schedule are not firm and may be varied.
- However, for variation beyond +25% (a) for the first 15% increase in quantity beyond 25% of agreement value; the rates will have a reduction of 2% in the incremental value of the agreement. b) And for the next 10% increase in quantity, the rates will have an additional reduction of 2% in further incremental value of the agreement. In case the execution of quantity is required to exceed +50 % of overall agreement value, the rates shall be negotiated.

#### 24 FORCE MAJEURE CLAUSE

If at any time during continuance of this Contract, the performance, in whole or part, by either party, of any obligation under this contract shall be prevented or delayed by reason of any war, hostility, act of the public enemy, Civil Commotion, Sabotage, Fires, Floods, Earth quakes, explosions, strikes, epidemics, quarantine, restrictions lockouts, any statute, statutory rules, regulations, order of requisitions issued by any Government Department or Competent Authority or acts of God (here-in-after referred to as event) then provided notice of the happening of any such, event is given by either party to the other within twenty one days from the date of occurrence thereof neither party shall by reason of such event be entitled to terminate this Contract nor shall either party have any claim for damage against the other in respect of such non-performance or delay in performance, and the

obligations under the Contract shall be resumed as soon as practicable after such event has come to an end or ceased to exist, PROVIDED FURTHER that if the performance in whole or part of any obligation under this contract is prevented or delayed by reason of any such event beyond a period as mutually agreed to by the RailTel and the Contractor after any event or 60 days in the absence of such an agreement whichever is more, either party may, at its option, terminate the Contract provided also that if the contract is so terminated under this clause the RailTel may, at the time of such termination, take over from the Contractor at prices as provided for in the contract, all works executed or works under execution.

- All the terms & conditions stipulated are binding on the contractor. In all matters of dispute, the decision of General Manager, Southern Region, Secunderabad shall be final.
- All items required for satisfactory execution of the work contemplated are covered in the schedules. If contractor feels that any item is required for satisfactory completion of the work over and above the schedules, he may quote for the same duly giving necessary justification for the same.

All the works should be carried out as per the instructions of RailTel Engineer-In-Charge at site.





Page 42 of 69 42

Schedule of Requirement for WI-FI Connectivity for Chennai Egmore-SN1					
S.No.	Description	Units	Qty.	Rate	Total
Supply	Portion				
1	Supply of 24 core metal strenghtened outdoor unarmored OFC	Mtrs	1600	44.10	70560
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	500	20.60	10300
3	Supply of 6 Core metal strenghtened outdoor unarmored OFC	Mtrs	4200	16.00	67200
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	12	7329.00	87948
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make-Raychem,3M,or AFC)	Nos	37	4135.00	152995
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	275	113.40	31185
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	30	113.40	3402
8	Supply of PVC insulated 3 Core 4 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	3780	145.00	548100
9	Supply of PVC insulated 3 Core 6 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	1280	190.00	243200
10	Supply of 25 mm PVC Conduit Pipe ISI Mark	mtr	11403	27.16	309705
Total o	of Supply Portion(A)				1524595
Supply	and Work Portion				
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing	nos	2	1851.40	3703
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165
4	Supply and installation of GI Pipe $40  /  50  /  75$ mm as per site requirements	mtr	30	480.90	14427
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.	Nos	200	54.90	10980
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories	nos	12	2000.00	24000
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box	nos	48	1400.00	67200
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.	Nos	43	725.00	31175

9	Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cable from the HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted for easy marking	Mtr	11973	3.67	43941
10	Clamping /Fixing of Conduit Pipe/ 40 mm dia HDPE Duct/50mm GI Pipes on Walls/ Plateform Shed/ Poles etc in building. Fixing Material/GI Clamp supply.	Mtr	11403	24.00	273672
11	Supply and installation of Three phase Energy Meter in proper fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor	Nos	1	11500.00	11500
12	Splicing of 24 F in FDMS	nos	18	6582.00	118476
13	Splicing of 12 F in FDMS / termination Box	nos	37	3291.00	121767
14	Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)	nos	43	2290.00	98470
15	Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)	nos	6	5000.00	30000
16	Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes	nos	1	25000.00	25000
17	Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing	mtr	50	727.00	36350
18	Concreting in Rocky areas for OFC protection and to keep the route marker in position	mtr	50	194.90	9745
19	Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.	mtr	100	283.50	28350
20	Laying of over head OFC laying	mtr	500	7.50	3750
Total of Supply and Work Portion(B)					966507
Total of Supply Portion(A)					1524595
Grand Total(A+B)					

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in words	

Schedule of Requirement for WI-FI Connectivity for Chennai Tambaram –SN2					
S.No.	Description	Units	Qty.	Rate	Total
Supply	y Portion	l .			
1	Supply of 24 core metal strengthened outdoor unarmored OFC	Mtrs	1600	44.10	70560
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	500	20.60	10300
3	Supply of 6 Core metal strenghtened outdoor unarmored OFC	Mtrs	3500	16.00	56000
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make-Raychem, 3M, or AFC)	Nos	10	7329.00	73290
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make-Raychem,3M,or AFC)	Nos	31	4135.00	128185
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	230	113.40	26082
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	25	113.40	2835
8	Supply of PVC insulated 3 Core 4 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	3150	145.00	456750
9	Supply of PVC insulated 3 Core 6 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	1280	190.00	243200
10	Supply of 25 mm PVC Conduit Pipe ISI Mark	mtr	10007	27.16	271790
Total o	of Supply Portion(A)				1338992
Supply	y and Work Portion				
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing	nos	2	1851.40	3703
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165
4	Supply and installation of of GI Pipe 40 / 50 / 75 mm as per site requirements	mtr	30	480.90	14427
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.	Nos	200	54.90	10980
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories	nos	10	2000.00	20000
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box	nos	40	1400.00	56000
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.	Nos	36	725.00	26100

9	Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cable from the HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted for easy marking	Mtr	10507	3.67	38561		
10	Clamping /Fixing of Conduit Pipe/ 40 mm dia HDPE Duct/50mm GI Pipes on Walls/ Plateform Shed/ Poles etc in building. Fixing Material/GI Clamp supply.	Mtr	10007	24.00	240168		
11	Supply and installation of Three phase Energy Meter in proper fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor	Nos	1	11500.00	11500		
12	Splicing of 24 F in FDMS	nos	16	6582.00	105312		
13	Splicing of 12 F in FDMS / termination Box	nos	31	3291.00	102021		
14	Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor ( rack will be supplied by RailTel)	nos	36	2290.00	82440		
15	Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)	nos	5	5000.00	25000		
16	Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes	nos	1	25000.00	25000		
17	Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing	mtr	50	727.00	36350		
18	Concreting in Rocky areas for OFC protection and to keep the route marker in position	mtr	50	194.90	9745		
19	Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.	mtr	100	283.50	28350		
20	Laying of over head OFC laying	mtr	500	7.50	3750		
Total of Supply and Work Portion(B)					853407		
Total of Supply Portion(A)					1338992		
Grand	l Total(A+B)	Grand Total(A+B)					

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in words	

	Schedule of Requirement for WI-FI Connectivity for Arrakonam-SN3					
S.No.	Description	Units	Qty.	Rate	Total	
Supply	y Portion	•				
1	Supply of 24 core metal strenghtened outdoor unarmored OFC	Mtrs	1600	44.10	70560	
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	500	20.60	10300	
3	Supply of 6 Core metal strenghtened outdoor unarmored OFC	Mtrs	3500	16.00	56000	
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	10	7329.00	73290	
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	31	4135.00	128185	
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	230	113.40	26082	
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	25	113.40	2835	
8	Supply of PVC insulated 3 Core 4 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	3150	145.00	456750	
9	Supply of PVC insulated 3 Core 6 Sqmm , 12 AWG , 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	1280	190.00	243200	
10	Supply of 25 mm PVC Conduit Pipe ISI Mark	mtr	10007	27.16	271790	
Total o	of Supply Portion(A)				1338992	
Supply	and Work Portion					
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing	nos	2	1851.40	3703	
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836	
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165	
4	Supply and installation of of GI Pipe $40 / 50 / 75$ mm as per site requirements	mtr	30	480.90	14427	
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.	Nos	200	54.90	10980	
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories	nos	10	2000.00	20000	
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box	nos	40	1400.00	56000	
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.	Nos	36	725.00	26100	

Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cab HDPE Duct/Conduit Pipe, Sticker of RCIL embde for easy marking		Mtr	10507	3.67	38561
Clamping /Fixing of Conduit Pipe/ 40 mm dia HD Duct/50mm GI Pipes on Walls/ Plateform Shed/ P building. Fixing Material/GI Clamp supply.		Mtr	10007	24.00	240168
Supply and installation of Three phase Energy Me fixture as directed by RailTel representative (40 A material like 4 way MCB, 2 pole MCB with box n carrier and all other wiring material (16 sqmm copearthing upto 10 meter) to be supplied by contract	mps) All the ecessary fuse oper cables for	Nos	1	11500.00	11500
12 Splicing of 24 F in FDMS		nos	16	6582.00	105312
13 Splicing of 12 F in FDMS / termination Box		nos	31	3291.00	102021
Fixing or mounting of 4U/6U/9U size Rack at suit Wall, Pole. All sorts of Angles, Nuts, Bolts, Clampaccesoris required for installation to be supplied by rack will be supplied by RailTel)	ps and other	nos	36	2290.00	82440
Fixing or mounting of UPS in 9U size Rack or ou /pole . All sorts of Angles, Nuts, Bolts, Clamps an accesoris required for installation to be supplied by UPS will be supplied by RailTel)	d other	nos	5	5000.00	25000
Final Testing & configuration/commissioning of n submission of report containing OFC(24F/12F) an route, Power taping point position of Rack, UPS, I switches, Access switches and wifi routes	d power cable	nos	1	25000.00	25000
17 Trenching by HDD Machine at depth 1.65 Mtr. fo crossing	r Road	mtr	50	727.00	36350
Concreting in Rocky areas for OFC protection and route marker in position	l to keep the	mtr	50	194.90	9745
Breaking of pucca road/CC, Laying of OFC in Tr through all types of protections viz HDPE/GI/RCC the case may be.		mtr	100	283.50	28350
20 Laying of over head OFC laying		mtr	500	7.50	3750
Total of Supply and Work Portion(B)					853407
Total of Supply Portion(A)					1338992
Grand Total(A+B)					2192400

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in words	

Schedule of Requirement for WI-FI Connectivity for Coimbatore-SN4					
S.No.	Description	Units	Qty.	Rate	Total
Supply	Portion				
1	Supply of 24 core metal strengthened outdoor unarmored OFC	Mtrs	1600	44.10	70560
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	500	20.60	10300
3	Supply of 6 Core metal strengthened outdoor unarmored OFC	Mtrs	2800	16.00	44800
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	8	7329.00	58632
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make-Raychem,3M,or AFC)	Nos	25	4135.00	103375
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	185	113.40	20979
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	20	113.40	2268
8	Supply of PVC insulated 3 Core 4 Sqmm , 12 AWG , 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	2520	145.00	365400
9	Supply of PVC insulated 3 Core 6 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	1280	190.00	243200
10	Supply of 25 mm PVC Conduit Pipe ISI Mark	mtr	8610	27.16	233848
Total o	of Supply Portion(A)				1153362
Supply	and Work Portion				
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing	nos	2	1851.40	3703
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165
4	Supply and installation of GI Pipe $40 / 50 / 75$ mm as per site requirements	mtr	30	480.90	14427
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.	Nos	200	54.90	10980
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories	nos	8	2000.00	16000
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box	nos	32	1400.00	44800
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.	Nos	29	725.00	21025

building. Fixing Material/GI Clamp supply.  Supply and installation of Three phase Energy Meter in proper fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor  12 Splicing of 24 F in FDMS  13 Splicing of 12 F in FDMS / termination Box  14 6582.00 92  15 Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accessoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)  15 Fixing or mounting of UPS in 9U size Rack or outside on wall /pole. All sorts of Angles, Nuts, Bolts, Clamps and other accessoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)  16 Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes  17 Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing  18 Concreting in Rocky areas for OFC protection and to keep the route marker in position  19 Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.  20 Laying of over head OFC laying  Total of Supply and Work Portion(B)	9	Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cable from the HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted for easy marking	Mtr	9041	3.67	33180
fixture as directed by RailTel representative (40 Amps) Åll the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor  12 Splicing of 24 F in FDMS	10	Duct/50mm GI Pipes on Walls/ Plateform Shed/ Poles etc in	Mtr	8610	24.00	206640
Splicing of 12 F in FDMS / termination Box  Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accessoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)  Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accessoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)  Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes  Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing  Concreting in Rocky areas for OFC protection and to keep the route marker in position  Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.  Contail of Supply and Work Portion(B)	11	fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for	Nos	1	11500.00	11500
Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)  Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)  Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes  Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing  Concreting in Rocky areas for OFC protection and to keep the route marker in position  Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.  Concreting of over head OFC laying mtr 500 7.50 3.50 7.50 7.50 7.50 7.50 7.50 7.50 7.50 7	12	Splicing of 24 F in FDMS	nos	14	6582.00	92148
Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)  Fixing or mounting of UPS in 9U size Rack or outside on wall / pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)  Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes  Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing  Concreting in Rocky areas for OFC protection and to keep the route marker in position  Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.  Laying of over head OFC laying  Total of Supply and Work Portion(B)	13	Splicing of 12 F in FDMS / termination Box	nos	25	3291.00	82275
/pole . All sorts of Angles, Nuts, Bolts, Clamps and other accessoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)  Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes  Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing  Concreting in Rocky areas for OFC protection and to keep the route marker in position  Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.  Cotated of Supply and Work Portion(B)	14	Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (	nos	29	2290.00	66410
submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes  17 Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing  18 Concreting in Rocky areas for OFC protection and to keep the route marker in position  19 Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.  20 Laying of over head OFC laying  Total of Supply and Work Portion(B)  10 25000.00  11 25000.00  12 25000.00  12 25000.00  12 25000.00  13 25000.00  14 25000.00  15 0 727.00  26 194.90  27 283.50  28 28 28 28 28 28 28 28 28 28 28 28 28 2	15	/pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (	nos	4	5000.00	20000
Concreting in Rocky areas for OFC protection and to keep the route marker in position  Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.  Total of Supply and Work Portion(B)	16	submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber	nos	1	25000.00	25000
route marker in position  Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.  Total of Supply and Work Portion(B)  Intr	17	* 1	mtr	50	727.00	36350
through all types of protections viz HDPE/GI/RCC Pipes etc. as mtr 100 283.50 28 the case may be.  20 Laying of over head OFC laying mtr 500 7.50 37  Total of Supply and Work Portion(B) 746	18		mtr	50	194.90	9745
Total of Supply and Work Portion(B) 740	19	through all types of protections viz HDPE/GI/RCC Pipes etc. as	mtr	100	283.50	28350
	20	Laying of over head OFC laying	mtr	500	7.50	3750
Total of Supply Postion(A)	Total of Supply and Work Portion(B)					740284
Total of Supply Fortion(A)	Total of Supply Portion(A)					1153362
Grand Total(A+B)	Grand	Total(A+B)				1893646

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in	
words	

Schedule of Requirement for WI-FI Connectivity for Madurai –SN 5					
S.No.	Description	Units	Qty.	Rate	Total
Supply	y Portion				
1	Supply of 24 core metal strengthened outdoor unarmored OFC	Mtrs	1600	44.10	70560
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	500	20.60	10300
3	Supply of 6 Core metal strenghtened outdoor unarmored OFC	Mtrs	2800	16.00	44800
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	8	7329.00	58632
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make-Raychem,3M,or AFC)	Nos	25	4135.00	103375
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	185	113.40	20979
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	20	113.40	2268
8	Supply of PVC insulated 3 Core 4 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	2820	145.00	408900
9	Supply of PVC insulated 3 Core 6 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	1280	190.00	243200
10	Supply of 25 mm PVC Conduit Pipe ISI Mark	mtr	8610	27.16	233848
Total o	of Supply Portion(A)				1196862
Supply	y and Work Portion				
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing	nos	2	1851.40	3703
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165
4	Supply and installation of GI Pipe 40 / 50 / 75 mm as per site requirements	mtr	30	480.90	14427
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.	Nos	200	54.90	10980
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories	nos	8	2000.00	16000
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box	nos	32	1400.00	44800
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.	Nos	29	725.00	21025

9	Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cable from the HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted for easy marking	Mtr	9041	3.67	33180
10	Clamping /Fixing of Conduit Pipe/ 40 mm dia HDPE Duct/50mm GI Pipes on Walls/ Plateform Shed/ Poles etc in building. Fixing Material/GI Clamp supply.	Mtr	8610	24.00	206640
11	Supply and installation of Three phase Energy Meter in proper fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor	Nos	1	11500.00	11500
12	Splicing of 24 F in FDMS	nos	14	6582.00	92148
13	Splicing of 12 F in FDMS / termination Box	nos	25	3291.00	82275
14	Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)	nos	29	2290.00	66410
15	Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)	nos	4	5000.00	20000
16	Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes	nos	1	25000.00	25000
17	Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing	mtr	50	727.00	36350
18	Concreting in Rocky areas for OFC protection and to keep the route marker in position	mtr	50	194.90	9745
19	Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.	mtr	100	283.50	28350
20	Laying of over head OFC laying	mtr	500	7.50	3750
Total of Supply and Work Portion(B)					740284
Total of Supply Portion(A)					1196862
Grand	Grand Total(A+B)				

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in words	

	Schedule of Requirement for WI-FI Connectivity for Mangalore Central-Kerala-SN 6					
S.No.	Description	Units	Qty.	Rate	Total	
Supply	y Portion					
1	Supply of 24 core metal strenghtened outdoor unarmored OFC	Mtrs	1000	44.10	44100	
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	500	20.60	10300	
3	Supply of 6 Core metal strenghtened outdoor unarmored OFC	Mtrs	1400	16.00	22400	
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	4	7329.00	29316	
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make-Raychem,3M,or AFC)	Nos	13	4135.00	53755	
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	95	113.40	10773	
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	10	113.40	1134	
8	Supply of PVC insulated 3 Core 4 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	1260	145.00	182700	
9	Supply of PVC insulated 3 Core 6 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	800	190.00	152000	
10	Supply of 25 mm PVC Conduit Pipe ISI Mark	mtr	4683	27.16	127190	
Total o	of Supply Portion(A)				633668	
Supply	and Work Portion					
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing	nos	2	1851.40	3703	
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836	
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165	
4	Supply and installation of GI Pipe $40 / 50 / 75$ mm as per site requirements	mtr	30	480.90	14427	
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.	Nos	200	54.90	10980	
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories	nos	4	2000.00	8000	
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box	nos	17	1400.00	23800	
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.	Nos	15	725.00	10875	

Page 53 of 69 53

9	Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cable from the HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted for easy marking	Mtr	4917	3.67	18045
10	Clamping /Fixing of Conduit Pipe/ 40 mm dia HDPE Duct/50mm GI Pipes on Walls/ Plateform Shed/ Poles etc in building. Fixing Material/GI Clamp supply.	Mtr	4683	24.00	112392
11	Supply and installation of Three phase Energy Meter in proper fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor	Nos	1	11500.00	11500
12	Splicing of 24 F in FDMS	nos	10	6582.00	65820
13	Splicing of 12 F in FDMS / termination Box	nos	13	3291.00	42783
14	Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)	nos	15	2290.00	34350
15	Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)	nos	2	5000.00	10000
16	Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes	nos	1	25000.00	25000
17	Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing	mtr	100	727.00	72700
18	Concreting in Rocky areas for OFC protection and to keep the route marker in position	mtr	50	194.90	9745
19	Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.	mtr	500	283.50	141750
20	Laying of over head OFC laying	mtr	500	7.50	3750
Total of Supply and Work Portion(B)					633621
Total of Supply Portion(A)					633668
Grand	Total(A+B)				1267289

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in words	

	Schedule of Requirement for WI-FI Connectivity for Kozhikodu-Kerala – SN 7						
S.No.	Description	Units	Qty.	Rate	Total		
Supply Portion							
1	Supply of 24 core metal strenghtened outdoor unarmored OFC	Mtrs	1200	44.10	52920		
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	500	20.60	10300		
3	Supply of 6 Core metal strenghtened outdoor unarmored OFC	Mtrs	2100	16.00	33600		
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	6	7329.00	43974		
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	19	4135.00	78565		
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	140	113.40	15876		
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	15	113.40	1701		
8	Supply of PVC insulated 3 Core 4 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	1890	145.00	274050		
9	Supply of PVC insulated 3 Core 6 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	960	190.00	182400		
10	Supply of 25 mm PVC Conduit Pipe ISI Mark	mtr	6458	39.00	251862		
Total o	of Supply Portion(A)				945248		
Supply	y and Work Portion						
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing	nos	2	1851.40	3703		
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836		
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165		
4	Supply and installation of of GI Pipe 40 / 50 / 75 mm as per site requirements	mtr	30	480.90	14427		
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.	Nos	200	54.90	10980		
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories	nos	6	2000.00	12000		
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box	nos	25	1400.00	35000		
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.	Nos	22	725.00	15950		

Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cable from the HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted for easy marking	Mtr	6780	8.05	54579
Clamping /Fixing of Conduit Pipe/ 40 mm dia HDPE 10 Duct/50mm GI Pipes on Walls/ Plateform Shed/ Poles etc in building. Fixing Material/GI Clamp supply.	Mtr	6458	24.00	154992
Supply and installation of Three phase Energy Meter in proper fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor	Nos	1	11500.00	11500
12 Splicing of 24 F in FDMS	nos	12	6582.00	78984
13 Splicing of 12 F in FDMS / termination Box	nos	19	3291.00	62529
Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)	nos	22	2290.00	50380
Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)	nos	3	5000.00	15000
Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes	nos	1	25000.00	25000
17 Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing	mtr	100	727.00	72700
Concreting in Rocky areas for OFC protection and to keep the route marker in position	mtr	50	194.90	9745
Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.	mtr	500	283.50	141750
20 Laying of over head OFC laying	mtr	500	7.50	3750
Total of Supply and Work Portion(B)				
Total of Supply Portion(A)				
Grand Total(A+B)				1732218

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in	
words	
)	

Schedule of Requirement for WI-FI Connectivity for Thrisur-Kerala –SN 8					
S.No.	Description	Units	Qty.	Rate	Total
Supply	y Portion			1	
1	Supply of 24 core metal strengthened outdoor unarmored OFC	Mtrs	1200	44.10	52920
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	300	20.60	6180
3	Supply of 6 Core metal strenghtened outdoor unarmored OFC	Mtrs	2100	16.00	33600
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	6	7329.00	43974
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make-Raychem,3M,or AFC)	Nos	19	4135.00	78565
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	140	113.40	15876
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	15	113.40	1701
8	Supply of PVC insulated 3 Core 4 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	1890	145.00	274050
9	Supply of PVC insulated 3 Core 6 Sqmm , 12 AWG , 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution	Mtrs	960	190.00	182400
10	Supply of 25 mm PVC Conduit Pipe ISI Mark	mtr	6458	27.16	175399
Total o	of Supply Portion(A)				864665
Supply	and Work Portion	_			
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing	nos	2	1851.40	3703
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165
4	Supply and installation of GI Pipe 40 / 50 / 75 mm as per site requirements	mtr	30	480.90	14427
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.	Nos	200	54.90	10980
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories	nos	6	2000.00	12000
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box	nos	25	1400.00	35000
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.	Nos	22	725.00	15950

Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cable from the HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted for easy marking	Mtr	6780	3.67	24883				
Clamping /Fixing of Conduit Pipe/ 40 mm dia HDPE 10 Duct/50mm GI Pipes on Walls/ Plateform Shed/ Poles etc in building. Fixing Material/GI Clamp supply.	Mtr	6458	24.00	154992				
Supply and installation of Three phase Energy Meter in proper fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor	Nos	1	11500.00	11500				
12 Splicing of 24 F in FDMS	nos	12	6582.00	78984				
13 Splicing of 12 F in FDMS / termination Box	nos	19	3291.00	62529				
Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)	nos	22	2290.00	50380				
Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)	nos	3	5000.00	15000				
Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes	nos	1	25000.00	25000				
17 Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing	mtr	100	727.00	72700				
Concreting in Rocky areas for OFC protection and to keep the route marker in position	mtr	50	194.90	9745				
Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.	mtr	500	283.50	141750				
20 Laying of over head OFC laying	mtr	300	7.50	2250				
Total of Supply and Work Portion(B)								
Total of Supply Portion(A)								
Grand Total(A+B)			Grand Total(A+B)					

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in	
words	
)	

Schedule of Requirement for WI-FI Connectivity for Kollam-Kerala- SN 9					
S.No.	. Description		Qty.	Rate	Total
Supply	y Portion				
1	Supply of 24 core metal strenghtened outdoor unarmored OFC	Mtrs	1600	44.10	70560
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	500	20.60	10300
3	Supply of 6 Core metal strenghtened outdoor unarmored OFC	Mtrs	2800	16.00	44800
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	8	7329.00	58632
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	25	4135.00	103375
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	185	113.40	20979
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	20	113.40	2268
8	Supply of PVC insulated 3 Core 4 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution		2520	145.00	365400
9	Supply of PVC insulated 3 Core 6 Sqmm , 12 AWG , 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution		1280	190.00	243200
10 Supply of 25 mm PVC Conduit Pipe ISI Mark		mtr	8610	27.16	233848
Total o	of Supply Portion(A)				1153362
Supply	y and Work Portion				
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing	nos	2	1851.40	3703
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165
4	Supply and installation of of GI Pipe 40 / 50 / 75 mm as per site requirements	mtr	30	480.90	14427
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.		200	54.90	10980
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories		8	2000.00	16000
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box		32	1400.00	44800
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.	Nos	29	725.00	21025

Page 59 of 69 59

Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cable from the HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted for easy marking	Mtr	9041	3.67	33180	
Clamping /Fixing of Conduit Pipe/ 40 mm dia HDPE Duct/50mm GI Pipes on Walls/ Plateform Shed/ Poles etc in building. Fixing Material/GI Clamp supply.	Mtr	8610	24.00	206640	
Supply and installation of Three phase Energy Meter in proper fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor	Nos	1	11500.00	11500	
12 Splicing of 24 F in FDMS	nos	14	6582.00	92148	
13 Splicing of 12 F in FDMS / termination Box	nos	25	3291.00	82275	
Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)	Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor ( 29 2290.00		66410		
Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)	nos	4	5000.00	20000	
Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes				25000	
17 Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing	mtr	100	727.00	72700	
Concreting in Rocky areas for OFC protection and to keep the route marker in position	mtr	50	194.90	9745	
Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.	mtr	500	283.50	141750	
20 Laying of over head OFC laying mtr 500 7.50				3750	
Total of Supply and Work Portion(B)					
Total of Supply Portion(A)				1153362	
Grand Total(A+B)					

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in words	

Schedule of Requirement for WI-FI Connectivity for Thiruvananthapuram-SN 10							
S.No.	. Description		Qty.	Rate	Total		
Supply	Supply Portion						
1	Supply of 24 core metal strenghtened outdoor unarmored OFC	Mtrs	1500	44.10	66150		
2	Supply of 12 F armored OFC ( for over head laying from POP to Station in ring	Mtrs	500	20.60	10300		
3	Supply of 6 Core metal strenghtened outdoor unarmored OFC	Mtrs	2800	16.00	44800		
4	Supply of 48 Fibre (2*12, 6*4) (SC type) FMS with all accessories (Make- Raychem, 3M, or AFC)	Nos	8	7329.00	58632		
5	Supply of 24 Fibre (2*12, (SC type) FMS with all accessories (Make-Raychem,3M,or AFC)	Nos	25	4135.00	103375		
6	Supply of SC - LC Patch Cord (1 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	185	113.40	20979		
7	Supply of SC - SC Patch Cord (3 Mtr.) (Make- 3M, TE Connectivity, Raychem only)	Nos	20	113.40	2268		
8	Supply of PVC insulated 3 Core 4 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution		2520	145.00	365400		
9	Supply of PVC insulated 3 Core 6 Sqmm, 12 AWG, 12.1 KV grade outdoor strengthened Copper cable for UPS supply distribution		1200	190.00	228000		
10	10 Supply of 25 mm PVC Conduit Pipe ISI Mark		8421	27.16	228714		
Total o	of Supply Portion(A)				1128618		
Supply	y and Work Portion						
1	Supply & Installation of Optical Fibre Joint Enclosure (TE Connectivity / Raychem / 3-M / AFS-Make) and Splicing of 24 Fibre Cable Testing		2	1851.40	3703		
2	Supply & Fixing of Cable Route Marker as per Drawings	nos	2	417.90	836		
3	Supply & Installation of RCC Chambers	nos	2	6582.60	13165		
4	Supply and installation of of GI Pipe 40 / 50 / 75 mm as per site requirements		30	480.90	14427		
5	Supply of HDPE Duct 40/33 mm with Accessories and laying of the same in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be. Work also includes supply & pulling of Nylon Rope through it.		200	54.90	10980		
6	Installation of 2*24 Fibre (1*12, 3*4) (SC type) FMS with all required accessories		8	2000.00	16000		
7	Supply & Installation of 10A/DP MCB as per ISI Standard in suitable PVC/Metallic Box		32	1400.00	44800		
8	Supply and installation of spike buster/surge protector of reputed make with minimum 6Amps sockets- 3nos inside the Rack.		29	725.00	21025		

Pulling of 12F/24F OFC/Cat 5/6 Cable/Power Cable from the HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted for easy marking	HDPE Duct/Conduit Pipe, Sticker of RCIL embded to be pasted Mtr 8842 3.4			32450
Clamping /Fixing of Conduit Pipe/ 40 mm dia HDPE Duct/50mm GI Pipes on Walls/ Plateform Shed/ Poles etc in building. Fixing Material/GI Clamp supply.	Mtr	8421	24.00	202104
Supply and installation of Three phase Energy Meter in proper fixture as directed by RailTel representative (40 Amps) All the material like 4 way MCB, 2 pole MCB with box necessary fuse carrier and all other wiring material (16 sqmm copper cables for earthing upto 10 meter) to be supplied by contractor	Nos	1	11500.00	11500
12 Splicing of 24 F in FDMS	nos	14	6582.00	92148
13 Splicing of 12 F in FDMS / termination Box	nos	25	3291.00	82275
Fixing or mounting of 4U/6U/9U size Rack at suitable height on Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (rack will be supplied by RailTel)	Wall, Pole. All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor ( 29 2290.00		66410	
Fixing or mounting of UPS in 9U size Rack or outside on wall /pole . All sorts of Angles, Nuts, Bolts, Clamps and other accesoris required for installation to be supplied by Contractor (UPS will be supplied by RailTel)	nos	4	5000.00	20000
Final Testing & configuration/commissioning of network, submission of report containing OFC(24F/12F) and power cable route, Power taping point position of Rack, UPS, Fiber switches, Access switches and wifi routes	nos	1	25000.00	25000
17 Trenching by HDD Machine at depth 1.65 Mtr. for Road crossing	mtr	100	727.00	72700
Concreting in Rocky areas for OFC protection and to keep the route marker in position	mtr	50	194.90	9745
Breaking of pucca road/CC, Laying of OFC in Trenches and through all types of protections viz HDPE/GI/RCC Pipes etc. as the case may be.	mtr	500	283.50	141750
20 Laying of over head OFC laying mtr 500 7.50				3750
Total of Supply and Work Portion(B)				
Total of Supply Portion(A)				
Grand Total(A+B)				

Percentage Quoted by Tenderer (above/at par/below) %	
Total value after Tenderer 's percentage (Rupees in	
words	
)	



Page 63 of 69 63

## **Specification of Work/Material**

- 1) Conduit pipe: 25 mm diameter and 2 mm thickness.
- 2) 24F FDMS, SC type, telescopic FDMS single mode with 24 Nos. of SC/PC 0 (zero) db connector and 1.5 M length pigtails and two no of splice tray (each try can hold 12 splices), suitable for mounting on 19" rack, 1 U size. The FDMS should be rodent proof with all accessories for rack fixing hardware, splice, protection, sleeves, routing, clamps, cable ties, hose clamps for cable, buffer tubes, IPA etc
- 3) GI pipe: B Class 50 mm dia with
- 4) RCC chamber: The contractor has to arrange for Casting of circular RCC chamber, top covers and bottom plate (1:2:4 concrete mix) with reinforcement, two hooks in each half cover, provision of duct holes as shown in the drawing. Excavation of circular pit to a depth of 1300 mm, dia of 1500 mm, positioning of bottom plates, chamber and top covers (two halves). Chamber to be filled with river sand to the brim of the chamber after cable blowing and splicing, top covers placed, refilled with excavated soil and rammed etc., complete to the finished item of work as directed by the RailTel Engineer-in-Charge
- 5) **ROUTE MARKERS:** The contractor has to provide route markers as detailed below: Casting, transporting and fixing of RCC Route Markers at a distance of 200 Meter apart on the cable route/at places where the route of the cable changes/ on either sides of the culverts/bridges/LC gates/road cuttings etc. They should be of standard letters "RailTel", "OFC", with RailTel logo on top. They shall be painted with green when placed at joint chambers, yellow placed at loop chambers and orange at all other places. The length is 900mm, as shown in the drawing, complete to the finished item of work as directed by the RailTel Engineer-in-Charge
- 6) Power cable: 3 core 6 or 4 Sq mm of finolex or reputed make.
- 7) Power socket: should have 2 nos three pin socket, two nos of switches with MCB/Fuse protection of reputed make with ISI certification.
- 8) SC-LC patch cord: 1 mtr length
- 9) **Concreting with CC of 1:2:4** The contractor has to do the protective works of concreting as per requirement. The OFC has to be protected with Concreting 0.3 x 0.3 to the approaches of bridges and culverts in the ratio (PCC 1:2:4 mix) wherever necessary as per the technical specification and as directed by RailTel Engineer-in-Charge at site.
- 10) Matel cage and fixture should be painted as per railway standards (photo is enclosed).



A model Photograph of Rack and Access point metal cage installation at Railway station FOB/Platform shed, but as per the site condition to be installed with all accessories

# **OFFER LETTER**

Γο		
RailTel Corporation of India Limited,	The second second	
No.275E, EVR Periyar Saalai,		
4th Floor, Office of the Chief Admini	strative Officer,	
Southern Railway, Egmore,		
Chennai- 600008		
(AVI)	have mad the yearing	a conditions detailed in
/Weender documents attached here to and her	reby agree to ABIDE BY THE SAID COND	is conditions detailed in
	or a period of <b>120 days</b> from the date fixed f	
	for forfeiture of my/our Earnest Money.	
	ory As per specification & schedule of suppl	
document" and hereby bind myself/ourse	elves. I/We also hereby agree to abide by th	e Various Conditions of
	ording to the Specifications for materials and	l wo <mark>rks</mark> laid down by the
RailTel for the present contract.	-	
A sum of Po	account Payee Demand Draft No	dt.
squed by	our of RailTel Corporation India Ltd. Se	cunderahad is herewith
forwarded as "Earnest Money". The full	value of Earnest Money shall stand forfeited	without prejudice to any
	or modify the offer within validity period to	
	- Th	
		1 0 1
	SIGNATURE OF SUPPLIER (S) with	n Seai
100	Date:	
74	Bute.	
SIGNATURE OF WITNESS CONTTRA	CTOR (S) ADDRESS	_
	arms of south source	4
-		
2.	The Control of the Control	
700	a trial and transfer trial a	
1000	Jan. B. J. Stephen Jan.	
	67 I I I I I	
0.40	AILTE	
176-1	P <sup>2</sup>	

## FORM-I

## GUARANTEE BOND PROFORMA FOR SECURITY DEPOSIT

(On Stamp Paper of requisite value) (To be used by approved Scheduled Banks)

1.	
	called RailTel) having agreed to exempt (Hereinafter called "the said
	Contractor(s)") from the demand, under the terms and conditions of an LOA No
	made Between Group
	General Manager, RailTel Corporation, Chennai and for (hereinafter called "the Said Agreement") of security deposit for the due fulfillment by the said Contractor (s) of the
	Terms and conditions contained in the said Agreement, or production of a Bank Guarantee
	for Rs. only. We(indicate the name o
	the Bank) herein after referred to as "the Bank") at the request of contractor(s) do hereby undertake to pay the RailTel an amount not exceeding  Rs
	Against any loss or damage caused to or suffered or would be caused to or Suffered
	by the RailTel by reason of any breach by the said Contractor(s) of any if the terns O
2	conditions contained in the said Agreement.  We,Bank do hereby undertake to
2.	pay the amounts due and payable under this Guarantee without any demur, merely or
	demand from the RailTel starting that the amount is claimed is due by way of loss or damage
	caused to or would be caused to or suffered by the RailTel by reason of breach by the said Contractor(s) of any of terms or conditions contained in the said Agreement or by reason o
	the Contractor(s) failure to perform the said Agreement. Any such demand made on the
	Bank shall be conclusive as regards the amount due and payable by the Bank under thi
	guarantee. However, our liability under this guarantee shall be restricted to an amount no exceeding Rs
	exceeding Rs
3.	We,Bank undertake to pay to the RailTel any money
	so demanded notwithstanding any dispute or disputes raised by the Contractor(s) Supplier(s in any suit or proceedings pending before any court or Tribunal relating thereto our liability
	under this present being, absolute and unequivocal. The payment so made by us under this
	Bond shall be a valid discharge of our liability for payment there under and the Contractor(s
	/ Supplier(s) shall have no claim against us for making such payment.
4.	We,Bank further agree that the Guarantee herein contained shall
	remain in full force and effect during the period that would be taken for the performance of
	the said Agreement and that it shall continue to be enforceable till all the dues of the RailTel under or by virtue of the said Agreement have been fully paid and its claims satisfied or
	discharged or till RailTel certifies that the terms and conditions of the said Agreement have
	been fully and properly carried out by the said Contractor(s) and accordingly discharges this
	Guarantee Unless a demand or claim under the Guarantee is made on us in writing on or Before the (1) We shall be discharged from all liability
	Before the (1) We shall be discharged from all liability under this Guarantee thereafter————————————————————————————————————
5.	We,
	(Name of the Bank), Furthe agree with the RailTel that the RailTel shall have the fullest liberty without our consent and

without affecting in any manner our obligations hereunder to vary any of the terms and conditions of the Agreement or to extend time of to postpone for any time or from time to time any of the powers exercisable by the RailTel against the said Contractor(s) and to forbear or enforce any of the terms and conditions relating to the said Agreement and we shall not be relieved from our liability by reason of any such variation, or extension to the said Contractor(s) or for any forbearance, act or omission on the part of RailTel or any indulgence by the RailTel to the said Contractor(s) or by any such matter or thing whatsoever which under the law relating to sureties would, but for this provision, have affect of so relieving us.

6.		Guarantee will not be discha ontractor(s) Supplier(s).	arged due to the change	in the Constitution of the Bank or	
7.		cy except with the previous		ake not to revoke this Guarantee during in writing.	its
			Dated	day of 2015	
			For(Name of	the Bank)	
	Witne	ss:	. 1	. /	
	1.	Signature	т.	N /	
		Name	Th	N	
	2.	Signature	-	**	
		Name			
		- 5	-	\	
5. be effect	ed by ar	Weny change in the constitution	Bank further agrees t n of the said contractor.	hat the guarantee herein contained shall	not
Dated		day of			
		50%	8. 1.1	ops ps- p	
		- KU	for	Bank	
			ACCEPTED		

For on behalf of the President of India.

## FORM-II

## PROFORMA FOR STATEMENT OF DEVIATIONS

(1) The following are the particulars of deviations from the requirements of the					
tende	er specification.	- N - 1			
		- 1			
	Clause	Deviation	Remarks		
			(including justification)		
	ollowing are the particulars eral and Special Conditions	s of contract-	rements of the instructions to Tenderers,		
	Clause	Deviation	Remarks		
		\	(including justification)		
	1	Signatu	are and seal of the Tenderer		
Note:	Where there is no deviating "No Deviation	ion, the statement should be rns".	returned duly signed with an endorsement		